I

il O




YFTRRRTS ~ IFIARREVHETL » IMOSE » EPE]E o
We are always ready to accept customers' special specification &
special purpose in Hydraulic Cylinder, please contact us.

RIEHE

HER1000mm, {TF26000mm, =B FEEX/J420Bar.
Manufacturing Capacity:

Internal Diameter 1000mm, Stroke:6000mm. Max.
Pressure:420Bar.

BN mSEia - SR : eSS - {2 - Rt - SR s e
» EEEZ P, - ARl S {ERIRYHERET -

Such as:it can be available to bear the high temperature & low

temperature, acid proof and salty which is used for various
equipments; like: chemical machinery, food machinery, inspection
tests machinery, construction machinery, and shipping etc.

HfIB20FE A ERVEERIITEERGS FRYRESEE - EUlDEsE o
We have had over two decades of professional technique and
manufacture experience in hydraulic cylinder products and
customers' consult are welcomed.



ZZ[E2EL Pneu. Cylinder

REERE AN ZANETE

Formula Calculating For Theoretical Cylinder Output

Rl 22 N —ARETE MR BIEE RS

RIS R KB NIBREAST E/\‘bﬁlﬂ?
In general,the theoretical cylinder output which is
calculated under ideal condition and the inner friction
loss & pressure loss etc,are not calculated.The
calculating formula is as follows :

F1=A1P A1=T/4 D?
F2=A2-P A2=T1r/4 (D?-d?)
F12=5 {1325 L& 7J/Theoretical cylinder output(kg)

A=l Ef&/Area of cylinder(cm?)

D=& I A1&/Bore dia.of cylinder(cm)
=/EZE R IME/Outside dia.of piston rod(cm)
P [B2 7778 (25 = B R B M B )R ) (kgf/em?)
Pressure source (Pnen, pressure source or hyd.
pressure source)

ERBRIERL NS RER

- HAER

[A]

— F1

ouT

i
d
t

A2

H—Rm AL AE@40mm -
HE®IER

LI

jjy VAN 7

——F2

{65 FB B2 S15kgf/cm? -

Al K

For example : There is a cylinder dia.@d40mm and
output 5kgf/cm?, how to derive the
theoretical output ?

A1=T1/4%x4?=12.57cm?
A2=Tr/4x(4>-

1.6%)=10.56cm?

SF1=12.57%x5=62.9kgf
F2=10.56x5=52.8kgf

[Bl] : &

{5 F§ B2 1 5kgf/cm? -

5 BUREARK?
For example : There is a operating pressure 5kgf/cm?
and the theoretical output 40.2kgf. How
to derive the bore dia. of cylinder :

F1=40.2

."A1=40.2+5=8.04cm?
..D=(8.04%4/11)"2=3.2cm

i) 235 4 7140.2kgf

Theoretical Output Refer Table For Pneu.Cylinder

@ e fE /2 1 Operating Pressure kgf/cm?
Bore | Rod 2 3 4 O, 6 4 8 9 10
dia. | size in out in out in out in out in out in out in out in out in out
@20 | 10 4.7 6.3 7.1 9.4 94 126 1.8 157 14.1 18.8 16.5 22.0 18.8 25.1 21.2 28.3 | 235 314
@25 | 12 7.7 9.8 11.3 14.7 | 15.1 19.6 | 18.9 24.6 | 22.7 295 | 26.4 344 | 30.2 39.3 34 44.2 37.8 491
@30 | 12 12.2 14.2 18.3 21.3 | 244 284 | 30.5 35.5 36.6 42.6 | 42.7 49.7 | 48.8 56.8 549 639 | 61.1 711
@40 | 16 2.1 26.1 31.7 37.7 | 42.2 50.3 | 52.8 62.8 63.3 75.4 73.9 88 84.4 101 95 113.1 |[105.6 125.7
@50 | 20 33 39.3 49.5 58.9 66 78.5 82.5 98.2 99 117.8 | 1155 137.4 | 131.9 157.1 | 148.4 176.7 | 164.9 196.3
@63 | 20 56.1 62.3 | 84.1 93.5 | 112.1 124.7 | 140.2 155.9 | 168.2 187 | 196.2 218 | 224 249 252 281 280 312
@80 | 25 90.7 100.5 | 136.1 150.8 | 181.4 201 227 251 272 302 317 352 363 402 408 452 454 503
@100| 30 1429 1571 214 236 286 314 357 393 429 471 500 550 572 628 643 707 715 785
@125| 35 225 245 338 368 450 491 563 615 675 736 788 859 900 982 | 1013 1104 | 1125 1227
@150| 35 377 402 565 603 754 804 | 942 1005 | 1131 1206 | 1319 1407 | 1508 1608 | 1696 1810 | 1885 2011
@200| 50 589 628 884 942 1178 1257 | 1473 1571 | 1767 1885 | 2062 2190 | 2356 2513 | 2651 2827 | 2945 3142
@250| 60 925 982 1388 1473 | 1850 1963 | 2313 2454 | 2776 2945 | 3238 3436 | 3701 3927 | 4163 4418 | 4626 4909
@300| 70 1337 1414 | 2005 2121 | 2673 2827 | 3342 3534 | 4040 4241 | 4679 4948 | 5347 5655 | 6015 6362 | 6684 7069
[Bl] : EREDEE

1. EZRELAET80MmET - EFmE NESRERBERLIELRFESH251kg

2.H I ERE T 1%3251kg*x0.8=200.8kg

For Example : The calculating for practical output.
1.If the bore size is @80mm and from theoretical output refering data. The pneu.cylinder delivery is 251kg.
2.From above we can derived the practical output is 251kgx0.8=200.8kg




ZERI ZZERHREE

Air Consumption For Pneu.Cylinder

R 7 ZEREFEE0H FMIAIEE !

The air consumption for pneu.cylinder can be calculated by following formula :
Q1=0.00076%(D12 - L+d? - £)x(P+1.033)*xn(&/min)

Q2=0.00076x% { (D12-D22) - L+d>{}

Q =
Q =
Q1

ERFI B EFERMZZERAEFEE (/min)

T 5 =
1

Q1+Q2(2/min)

R i8 7 ZERHFEE / Air consumption per minute(#/min)

ZE [ ] B 22 OB FE = / Air consumption for forward stroke(£/min)
ZEERFEEIEZERBEFEEZ /Air consumption for backward stroke(2/min)
ZEZEL AT / Inside diameter of pneu.cylinder(cm)

SEERIME / Outside diameter of piston rod(cm)

BCE A / Piping inside diameter(cm)

ZE BRI & 2R E / Stroke of pneu.cylinder(cm)

BcE R E / Piping length(cm)

ZERT T iEEERE / Frequency of operation of pneu.cylinder(cycle/min)

anl—a=t

ZEREERS] | Air line pressure/Air line pressure(kgf/cm? G)

Air Consumption For Reciprocating Times Of Pneu.Cylinder

RE

TaE | 1 2 3 4 5 8 10 | 15 | 20 | 25 | 30
Bore dia.

@40 | 14 | 28 | 42 | 56 | 7 | 12| 14 | 21 | 28 | 35 | 42
@50 | 21 | 42 | 63 | 84 | 105 | 168 | 21 | 315 | 42 | 525 | 63
63 | 35 | 7 | 105 | 14 | 175 | 28 | 35 | 525 | 70 | 875 | 105
280 | 56 | 112 | 168 | 224 | 28 | 448 | 56 | 84 | 112 | 140 | 168
@100 | 88 | 176 | 264 | 352 | 44 | 704 | 88 | 132 | 176 | 220 | 264
@125 | 138 | 276 | 414 | 552 | 69 | 1104 | 138 | 207 | 276 | 345 | 414
@150 | 22.7 | 48.4 | 68.1 | 90.8 | 1135 | 1816 | 227 | 3405 | 454 |567.5 | 681
@200 | 355 | 71 | 1065 | 142 |1775 | 284 | 355 |5325 | 710 | 887.5 | 1065
@250 | 55.7 | 111.4 | 167.1 | 222.8 | 278.5 | 4456 | 557 | 8355 | 1114 |1392.5| 1671
@300 | 80.3 | 160.6 | 240.9 | 3212 | 4015 | 642.4 | 803 [1204.5| 1606 |2007.5| 2409

S AEZHEEGER

1.Z=REBH5H5kgf/cm2G -
2RI EERLIOOM/m - BEAR  REAEHFEA -

Remarks : The above table's calculating value is based on
1.1f the bore size is @80mm and from theoretical output refering data. The pneu.cylinder delivery is 251kg.

2.From above we can derived the practical output is 251kgx0.8=200.8kg




CM Series Mini Cylinder
Dia. : @20 - @25 - @30 - ©40

DESIGN FEATURES

| *Hard anodized aluminum cylinder tube resists corrosion and abrasion.
—I_ With 20 micron hard aluminum oxide film providing minimum friction
| | | | and assuring long seal life.
=) = F) *Major parts employ aluminum alloy so are light weight,rust proof,
Single Acting Double Acting miniatured with low piston inertia.
ITON *Employs oil-filled sintered bronze bushing which self-lubricates the
RetERAA - iston rod during each stroke
1. 5% AR % E(Cylinder tube) W EE B EEE - 7o o0 o U9 ' .
R *Unified design,most parts of each type are intrechangeable among
AERWE ° each other.
2 ArEmAl R AN - HHK - *CNC mack;ined arts ensure high precision,excellent workmanshi
3.CNSIIT 34 - HER - nec parts ens.re igh precision. i
and good interchangeability.
}F HAKES Z#E1T42/Standard Stroke(mm)
Acting Size 25 50 75 100 125 150 175 200 250 300
220
EBE 225
Double Acting F30
240
220
EBE) 225
Single Acting @30
240
FOLECERZETE - Remarkes : 1.The shadow is represented the standard stroke.
2 45TRITIE - BRAATHETRE - 2.Special stroke available on request.
&4 CMSD Type EZAKE!
NN GA - P(PT) P(PT) GB NN
MM \ /
/ \ \ 1L 1L
k_J @D R — I - @ 1 - — . — . — . — . — -
K
A F N N
H S+Stroke
#€ 5 Double Acting
[iKES TI2EEE
Bore Stroke A @D F GA | GB (%] K MM N NN B2 S H
dia. range
220 -200 18 10 13 8 8 28 5 M8x1.25 16 M20x1.5 1/8” | 68 41
225 -300 22 12 13 8 8 34 7 M10x1.25 16 M26x1.5 1/8” | 68 45
230 -300 22 12 13 8 8 38 7 M10x1.25 16 M26x1.5 1/8” | 68 45
40 -300 24 16 16 11 11 50 8 M12x1.25 22 M32x2.0 1/4” | 89 50
B8 #) Single Acting
g:[@ ?Z?%EE] A | @D = GA | GB | @I K MM N NN 2 = H
dia. | range 25 | 50 | 75 | 100
@20 -100 18 | 10 13 8 8 28 5 M8x1.25 | 16 | M20x1.5 | 1/8”| 85 | 103 | 127 - 41
225 -100 22 | 12 13 8 8 34 7 |M10x1.25| 16 | M26%x1.5 [ 1/8”| 85 | 98 | 120 - 45
30 -100 22 | 12 13 8 8 38 7 |M10x1.25| 16 | M26x1.5 | 1/8" | 88 | 105 | 124 | 150 | 45
@40 -100 24 | 16 16 1 1 50 8 [ M12x1.25| 22 | M32x2.0 | 1/4”| 99 | 124 | 137 | 153 | 50




& CMFA Type A% i E € B

GB

GA
-— PPT) PPT)  m—y
MM W ﬁ\—r/NN
B ¢D¢ — = ———— A1
K
A F N N
H S+Stroke
ZZ+Stroke
#€ %) Double Acting
| TiE#HE
Bore| Stoke | A |@D| F |GA|GB| @l | K MM N NN P| s | H|@FD B |FX|FY |Fz
dia. range
@20] -300 |18 |10 [13 | 8 | 8 |28 | 5 | m8x125| 16 [ M20x15 [1/8"| 68 |41 | 7 | - |62 | - |75
25| 300 |22 |12 [13| 8 | 8 |34 | 7 [M10x1.25| 16 [ M26x15 [1/8"| 68 [ 45 | 7 | - |62 | - |75
30| -300 |22 [12[13| 8 | 8 |38 | 7 |M10x1.25| 16 | M26x15 [1/8"| 68 | 45| 7 | - |62 | - |75
@40| -300 |24 |16 |16 | 11 | 11 | 50 | 8 |M12x1.25| 22 | M32x2.0 |1/4"| 89 | 50 | 7 | 52 | 66 | 36 | 82
E %)) Single Acting
G | TiEEE S
Bore Stroke A | @D F GA | GB | @I K MM N NN B H
dia. range 25 | 50 75 | 100
20| -300 18 |10 [ 13 | 8 | 8 | 28 | 5 | M8x125 | 16 | M20x1.5 | 1/8"| 85 | 103 | 127 | - | 41
@25| -300 22 |12 |13 ] 8 | 8 [ 34 | 7 [Miox125 | 16 | M26x15 | 1/8°| 85 | 98 | 120 | - | 45
@30 | -300 22 [12 |13 | 8 [ 8 [ 3 | 7 |[M10x125 | 16 | M26x15 | 1/8” | 88 | 105 | 124 | 150 | 45
240 -300 24 16 16 11 11 50 8 M12x1.25 | 22 M32x2.0 1/4” | 99 | 124 | 137 | 153 | 50
|
# CMLB Type FEH
H
F
GB
NN
- L
— 2l
LH
h -+ [—m
I 2.6LD A v N N X
S+Stroke
Lz | LS+Stroke
€&/ Double Acting
A
Bore| Stroke | A |@D | F | GA|GB| @l | K MM | N |NA| NN |PT| S| X |@D|LH|LS|LX|LZ|H
1a. range
@20 300 | 181013 | 8 | 8 [28] 5 [M8x1.25] 16 | 24 | M20x1.5[1/8”| 68 | 20 | 6.8 | 25 [ 108 40 | 55 | 41
@25 300 | 221213 | 8 | 8 [34 ] 7 [M10x1.25] 16 | 30 | M26x1.5[1/8"| 68 | 20 | 6.8 | 28 [ 108 40 | 55 | 45
@30| -300 22 (12 |13 | 8 8 [ 38| 7 |[M10x1.25| 16 | 32 | M26%x1.5(1/8"| 68 | 20 | 6.8 | 28 |108| 40 | 55 | 45
@40 -300 |24 |16 [16 | 11 | 11 |50 | 8 |M12x1.25| 22 | 46 | M32x2.0 |1/4”| 89 | 23 | 7.0| 30 |135| 55 | 75 | 50
E &) Single Acting
| TERE s Ls
B Strok
wa | wanes | A |PP| F|GB| @ K| MM N NN P o5 TS0 [ 75 [100[125]150] 25 | 50 75 [100]125[150] X [PHO|EH| LT X | L2 H
2200 -300 | 18] 10[ 13| 8 |28 5 |Mex1.25] 16 [M20x1.51/8"| 85 [103[127] - | - | - [125[150[175| - | - | - [20[6.8][25[3.2] 40|55 | 41
225 -300 |22]12[ 13| 8 |34 7 |M10x1.25 16 [M26x1.5|1/8"| 85 [98 [120] - | - | - [125[150[175] - | - | - [20|6.8]28[3.2] 40|55 |45
230 -300 | 22| 12| 13| 8 |38 7 |M10x1.25 16 [M26x1.5|1/8"| 88 |105|124]150 - | - [128[153|178|190| - | - [20|6.8]28 [3.2]40|55 |45
240 300 |24 16| 16|11 (50| 8 |M12x1.25 22 [ M32x2.0(1/4’| 99 |124]137|153|174|191|143|168(193(199|220(237| 23 | 7.0| 30 [3.2| 55| 75 | 50




& CMCA Type REEA!

NN e P(PT) P(PT) i S
MM ‘\ D
\ N Wi /
oD PR _.g.._ - 49 @ - . . . .. }_ oC
R
K
A F N N U
H S+Stroke
# %) Double Acting
i | e >
Bore | Stroke A | @D E GA | GB | @I K MM N | @C NN S U [8CDl CX| R H
dia. range PT
@20 -300 18 10 | 13 8 8 28 5 M8x1.25 | 16 | 20 | M20x1.5 | 1/8" | 68 14 8 10 9 41
@25 -300 22 12 | 13 8 8 34 7 M10x1.25| 16 | 26 | M26x1.5 | 1/8” | 68 14 10 10 9 45
@30 -300 22 12 | 13 8 8 38 7 M10x1.25| 16 | 26 | M26x1.5 | 1/8” | 68 14 10 10 9 45
@40 -300 24 16 | 16 11 11 50 8 M12x1.25| 22 | 32 | M32x2.0 | 1/4” | 89 18 12 19 || 19 50
EE & Single Acting
| TiE8E S
Bore| Stroke A |@D| F |GB| gl | K MM N | @C NN P U |@CD|CX | H
dia. | range 25 | 50 | 75 | 100(125|150
320 -75 18|10 | 13| 8 | 28| 5 |[M8x1.25| 16 | 20 | M20x1.5(1/8"| 85 |108|129| - - - 14 | 9 |10 | 41
@25| -75 22 (12| 13| 8 |34 | 7 |M10x1.25 16 | 26 | M26x1.5|1/8"| 85 | 98 |120| - | - | - | 14| 9 |10 | 45
@30 -100 22 112 | 13| 8 | 38| 7 |[M10x1.25 16 | 26 | M26%x1.5(1/8”| 88 |105|124| 150| - - 14| 9 [ 10 | 45
@40| -150 24 |16 [ 16 | 11 | 50 | 8 [M12x1.25| 22 | 32 | M32x2.0|1/4”| 99 (124 |139| 153|174 |-191| 18 | 10 | 15 | 50
| 88 (1 Adapter) Y $88(Y Adapter)
I-02 Y-02
1-04 -
I1-03 Rl {f Y-03 RR1 Y-04
e MM
ﬁ\ I = 5 7 Y el | T
——— L 7T 1 == 1 ~—L11
31 —EE__-J—-— - x| on1| — ____>_._'_\.|_ — N El [I:N: Nx| NZ 51—-:"— — —NX!NZ
Al UL Al 1§
Al | ut |  ut |
" L ND u u
g ﬂ@é H10 | = fﬁl?g
Mozta Bore | A1 @D Lt | MM |Ri|Er| ND | NX l\/%il Bore |A1/GETLI| MM RRy U ND T |NX(|NZ
102 | @20 |16 |20 |36 |M8x1.25|10 |14 | 9% 9203 v.02 | @20 |16]20|36|M8x1.25|12 (14| 9% | 9 |18
1-03 |@25-30| 18 | 20 | 38 [M10x1.2510 | 14 | 9:2%%8 | 933 Y-03 |@25-30| 18 | 20| 38 [M10x1.25| 12|14 | 91005 | 9 |18
1-04 | @40 |22 2855 |M12x1.25/14 | 20 [125°°| 1633 Y04 | @40 |22 28|55 M12x1.25| 14 |20 [12:0970| 16 44




=z B &l
Pneu.Cylinder

CMT Super Thin Cylinder
8 5 Bl UL

FF1E -
FEATURES:

BEAFEAAGCERRIL - HSMARITEAR  MERBRERE  2RER—MEEIZ=
DZ— > FMEZERE  EXEEZENERZBHIN I MRFTIHER r MREISILEARSES

BRE L o

The super thin cylinder is employed as the fixture’s cylinder.

The displacement is not too

long, especially the total cylinder length is very short and the length is just 4 of the
general cylinder, so that, which occupied little space.
clamp the workpiece during making processing. Since the super thin cylinder is applied at

varions of auto clampings.

6 151 -
EXAMPLE:

@3 #F Clamping

(2-S% & -THL 8 X UR)
2-S Drill through-
T counter sinkX U Depth)

R

A T1EM

2-4°P.T

It main performance is employed to

@M ITBEE Fixed at processing

__Q P wilo
Q F
K —— et
B+ stroke__.
A+ stroke
4 IEQ
&L 1% ltem A B D E J K F Q P S T U R
Bore dia.
20 29 25 10 50 36 8 9.3 16.3 30 5.5 10 6 M5X 0.8
25 32 28 12 55 42 10 12587101658 30 555 10 6 M6X 1.0
32 32 28 16 60 48 13 12.3 | 16.3 30 6.5 11 8 M6X 1.0
40 34 30 20 70 56 17 14.3 | 16.3 15 65 11 8 M8X 1.25
50 36 32 20 80 66 17 151310163 113 6.5 11 8 M8X 1.25




ISO Series EAE!
& EX# Basic type

RT

@B

i

VA

X BRI o] 2 ZE BRI CSHRSI
X For the fixed type, please refer
to the CS series of air cylinders.

B R A ZE BR ]

R ERE

Double acting cylinder
which equipped stroke
cushioning at both ends

Z+Stroke

EETIZ IR 4%
Adjusting screw for

stroke cushioning

EEITRE

stroke cushioning L4

1Z#E{T#2/Standard
stroke : 25 50+ 80 -

100 - 125 - 150 - 200 -

300 - 400 - 500

FFEETRIEZ]E

Besides above mentioned
strokes which available

on request.
XK EGLAR R N5mm
The total length for induction cylinder which must added 5Smm.
FHKES
Bore| HA|LC | @d | | MM K|F|H| @B GJIRTIBG| G| N |L4 | KY KXIKU|VA| Z
dia.
40 | 53 | 38 |16 |24 | M14x15(15| 20|35 | 35| 6 |[M6| 15|16 |34 |30 | 7 | 19|13 | 5 [137
50 | 6546520 |32 |M16x15|20 |25 45|40 | 8 |[M8| 15|11 (35|30 | 8 |24 |17 | 6 |153
63 | 7556520 |32 | M16x15|20 | 25|45 |40 | 8 |[M8| 15|12 |38 |30| 8 | 24|17 | 6 |166
80 | 95| 70 | 25 |40 | M20x15| 25 | 33 |58 | 45| 10 M10{ 12 |27 (42 | 35| 9 | 30|22 | 8 |188
100(115| 85 | 25 |40 | M20x15| 25|38 |63 | 55|10 |M10| 12 |26 |42 | 35| 9 [ 30|22 | 8 [193




ISO Series
# Single Acting Cylinder E &=

BG

X EELARRII5Smm

N

L
==
<]

¢B

KY

f||+

Z+Stroke

1ZE#17#2/Standard
stroke : 25 50 » 80 -
100 - 125 150 - 200 -

The total length for induction cylinder which must added 5mm. 300 - 400 - 500
FI1%
%ti);e OA|OC|@d | | MM K|F|H|@B|QJ| RTIBG|G | N |[L4 |KY|KX|KU|VA | Z
40 | 53 |38 |16 | 24 |[M14x15( 15|20 |35 |35| 6 |[M6| 15|16 |34 |30 | 7 |19 |13 | 5 |160
50 | 65 |46.5| 20 | 32 |[M16%x1.5| 20 |25 45|40 | 8 |[M8| 15|11 | 35|30 | 8 |24 |17 | 6 |168
63 | 75 |56.5| 20 | 32 [M16%x1.5| 20 | 25 | 45|40 | 8 |[M8| 15|12 |38 |30 | 8 |24 |17 | 6 |183
80 | 95|70 | 25 | 40 |M20%x1.5| 25 | 33 | 58 | 45 | 10 M10| 12 |27 {42 |35 | 9 |30 |22 | 8 [199
100(115| 85 | 25 | 40 [M20x1.5| 25| 38 | 63 | 55|10 M10| 12 |26 |42 |35 | 9 |30 |22 | 8 |214
# Double Acting Cylinder &=
G .G
T T
9B
KY T —_—t ] R .
@d MM‘( 2B ,_,}.@_ --------------- —[—
TIXg &1
-I—I RT — *—_ﬁ _____ 7(__‘_ —+
| 1 7! | VA ‘B_G—l
L _! N N F K
|| Il Z+Stroke H
EETREREs R 12 #1T72/Standard
Atdjuksting sF]c_:rew for stroke cushioning L4 stroke : 25 - 50 - 80 -
SRt P EL 4 = 15 mm stroke cushioning ;88 . lgg . ;gg . 200 -
The total length for induction cylinder which must added 5mm. ' '
fiEEd
I?j?are HA|OC|@d | | MM K| F|H|ZB GJ| RT| BG|G | N |L4 |KY |KX|KU|VA| Z |ZM
40 |53 |38 |16 | 24 M14x15| 15|20 | 35|35| 6 |[M6|15|16 |34 |30 | 7 |19 |13 | 5 [160(|165
50 |65 |46.5{ 20 | 32 M16%x1.5| 20|25 45|40 | 8 ([M8| 15|11 [ 35|30 | 8 |24 |17 | 6 168|180
63 | 75 156.5{ 20 | 32 |M16%x1.5/ 20|25 45|40 | 8 |[M8| 15|12 | 38|30 | 8 |24 |17 | 6 |183|195
80 (95|70 | 25 | 40 |M20%1.5| 25 | 33 | 58 | 45 | 10 [M10| 12 |27 |42 |35 | 9 |30 |22 | 8 199|220
100(115| 85 | 25 | 40 M20x1.5| 25|38 | 63 | 55| 10 M10/ 12 |26 |42 |35 | 9 |30 |22 | 8 [214|240




CS Series

Dia. : ©40,050,063,080,0100,0125,0150,0180,8200,0250,8300

&4 CSSD Type E##! Basic type

G S+Stroke

|G1|

p | 2-PT
|
MM Hly ——————————— — !
| =4 PR
] | m—
N r_‘
oE | od — — —@— ————————————————— - — + 0A Oc {g— —
—
] = N\ | v
— L ] —— s — — J__ _____ . . Ea— —Eb
T E - | N = \ }
— K1 N Cushion Valve N
ZZ+Stroke
g{)}e 324888 R~ Main body size
dia. | A | OC | @d | OE | MM K1 K 7 H N G G1 S PT agJ Y4 T
240 | 53.5| 38 16 35 24 | M14xP1.5| 10 12 20 56 30 12 12 33 | 1/4” | M6xP1.25 | 154 | 10
@50 | 66 [47.5| 20 40 32 | M16xP1.5| 10 10 12 54 26 12 12 45 | 1/4” | M8xP1.25 | 156 | 13
@63 | 75 [56.5| 20 40 32 | M16xP1.5| 10 10 12 54 30 15 15 45 | 1/4” | M8xP1.25 | 164 | 13
@80 | 95 70 | 2B 50 40 | M22xP1.5| 12 13 12 65 37 19 1% 50 |3/8” | M10xP1.5 | 194 | 10
@100| 113 | 84 30 52 40 | M26xP1.5| 12 12 15 67 37 15 15 50 | 3/8” | M10xP1.5 | 196 | 13
@125| 140 | 115 | 35 60 40 | M30xP1.5| 15 17 20 77 40 18 1% 64 | 1/2” | M14xP1.5 | 226 | 15
@150| 171 | 133 | 35 60 50 | M30xP1.5| 15 15 30 95 40 19 18 64 | 1/2” | M14xP1.5 | 244 | 15
@180| 214 | 172 | 50 85 60 | M45xP1.5| 20 40 25 | 125 | 50 25 25 80 |3/4” | M18xP1.5 | 310 | 10
@200| 225 | 182 | 50 | 110 | 60 | M45xP1.5| 20 40 25 | 125 | 50 25 25 80 |3/4” | M18xP1.5 | 310 | 10
@250| 275 | 225 | 60 | 120 | 70 M56xP2 25 50 30 [ 150 | 50 30 30 80 |3/4” | M22xP1.5 | 335 | 30
@300| 330 | 270 | 70 | 120 | 80 M64xP2 30 60 30 | 170 | 55 30 30 80 1”7 | M30xP1.5 | 365 | 30
1
&4 CSLB Type FEZ! Flat type
H
| K F G | S+Stroke | Gl 2-PT
MM | A f—rr[@
T —— — — —— —— [ ®)
— =
N ’_‘
N = 5 ] E— o1 D
T .
H '{ﬂ:— ''''''' — —
K1
oy
Cushion Valve —‘l
Y, X N N X Y
W W
Z+Stroke
ZZ+Stroke
gI@ ZA3218E8 R~ Main body size 12%548E8 R~ Mounting dimension
ore
dia. | JA|[OC|@d |GE | | MM K| K| F H N|G|[G1|S |PT aJ A|B|AH| D [ X |Y | W |JAB| O Z | ZZ| T
@40 |53.5( 38 | 16 | 35 | 24 (M14xP15| 10 [ 12 |20 | 56 | 30 | 12 | 12 | 33 [1/4"|M6xP1.25| 54 | 36 | 36 | 63 | 28 |11.5/39.5| 9 3 [149(173| 10
@50 | 66 |47.5| 20 | 40 | 32 [M16xP1.5| 10 | 10 | 12 | 54 | 26 | 12 | 12 | 45 [1/4"|M8xP1.25(68.5| 47 [ 40 | 72 | 30 |11.5|415| 12| 3 |157|181]| 13
@63 | 75 [56.5| 20 | 40 | 32 (M16xP1.5| 10 [ 10 |12 | 54 | 30 | 15 | 15 | 45 |1/4”|M8xP1.25| 80 | 56 |45 |825|32| 13 | 45|12 | 3 |169|193| 13
@80| 95 [ 70 | 25 | 50 | 40 (M22xP15| 12 [ 13 |12 | 65 | 37 | 15 | 15 | 50 | 3/8”|M10xP1.5| 98 | 70 | 63 |110.5/ 40 | 17 | 57 | 12 | 4 |204|236| 10
@100{113| 84 | 30 | 52 | 40 |[M26xP1.5| 12 |12 |15 |67 | 37 [ 15| 15 | 50 |3/8"|M10xP1.5| 118 | 86 | 72 | 128 | 48 {16.5(64.5| 12 | 4 |220|254| 13
@125|140|115| 35 | 60 | 40 [M30xP1.5| 15 |17 |20 | 77 | 40 | 18 | 15 | 64 |1/2"|M14xP1.5]| 150 (118 | 90 {1625/ 44 | 31 | 75| 18 | 6 |232|294| 15
@150{171{133| 35 | 60 | 50 |M30xP1.5| 15 | 15|30 | 95 | 40 | 19 | 18 | 64 [1/2"|M14xP1.5| 174|138 [105|191.5| 44 | 32 | 76 | 18 | 6 |232|296| 15
?180(214|172| 50 | 85 | 60 [M45xP1.5[( 20 | 40 | 25 |125| 50 | 25 | 25 | 80 | 3/4”|M18xP1.5| 225 (182 (132(2445|/ 60 | 30 | 90 | 24 | 10 | 300|360 | 10
@200|1225(182| 50 |110| 60 [M45xP1.5| 20 | 40 | 25 [125| 50 | 25 | 25 | 80 | 3/4"|M18xP1.5| 225|182 |132|2445/60 | 30 | 90 | 24 | 10 |300(360| 10
@250|1275|225| 60 [110| 70 | M56xP2 | 25 | 50 | 30 (150 | 50 | 30 | 30 | 80 |3/4”|M22xP1.5|275|275|160|297.5| 80 | 40 [120| 29 | 13 |340(420| 30
@300{330|270| 70 (120 80 | M64xP2 | 30 | 60 | 30 |170| 55 | 30 [ 30 | 80 | 1” |[M30xP1.5|330(330(200| 365|90 | 40 {130| 33 | 15 |370|450| 30




# Front Flange Mounting Type
(CSFA Type)BilEREY

y CA
I K ¢ G S+Stroke Gl o sle 4AB
e |
MM ] (¢ |
—+ @) !
N
AN rﬁ |
oE | od —— —|— Al B ——EE— ———}
AR
LS8 Cushion Valve )|<
\ Q N N
D
Z+Stroke
g{fi A3&248EE R~ Main body size 12448/ R ~I Mounting dimension
dia. | [JA [[OC | @d | @E | MM K1 K F H N © | @ S [Pr aJ A B D X |GAB| Q \Y Z T

@40 |535| 38 | 16 | 35 | 24 [M14xP1.5| 10 | 12 | 20 | 56 | 30 | 12 | 12 | 33 | 1/4" | M6xP1.25 | 62 | 42 |100| 80 | 9 | 20 | 36 |154| 10

250 | 66 |47.5| 20 | 40 | 32 | M16xP1.5 | 10 | 10 | 12 | 54 | 26 [ 12 | 12 | 45 | 1/4" | M8xP1.25| 68 | 50 |110 | 90 | 9 | 12 | 42 | 156 | 13

63| 75 |56.5] 20 | 40 | 32 | M16xP1.5| 10 | 10 | 12 | 54 |30 |15 | 15 | 45 | 1/4” | M8xP1.5 | 80 | 60 [130 |105| 11 | 12 | 42 | 164 | 13

80| 95 | 70 | 25 | 50 | 40 | M22xP1.5| 12 | 13 | 12 | 65 |37 |15 | 15 | 50 | 3/8" | M10xP1.5| 98 | 75 [ 160 | 130 [13.5| 12 | 53 | 194 | 10

2100|113 | 84 | 30 | 52 | 40 |M26xP1.5| 12 | 12 | 15 | 67 | 37 | 15 | 15 | 50 | 3/8" | M10xP1.5 | 114 | 92 | 180 |150 [135| 15 | 52 | 196 | 13

2125/ 140 (115 | 35 | 60 | 40 | M30xP1.5| 15 | 17 | 20 | 77 | 40 | 18 | 15 | 64 | 1/2"| M14xP1.5 | 148 [ 117 | 220 [185| 18 | 20 | 57 | 226 | 15

@150| 171 [133 | 35 | 60 | 50 | M30xP15| 15 | 15 | 30 | 95 | 40 | 19 | 18 | 64 | 1/2" | M14xP1.5 | 170 | 120 [ 270 {220 | 18 | 25 | 65 |244 | 15

2180214 (172 | 50 | 85 | 60 | M45xP1.5 | 20 | 40 | 25 |125| 50 | 25 | 25 | 80 | 3/4” | M18xP1.5 | 220 [ 140 | 320 ({270 | 22 | 25 |100 | 310 | 10

2200|225 [ 182 | 50 [ 110 | 60 | M45xP1.5 | 20 | 40 | 25 |125| 50 | 25 | 25 | 80 | 3/4" | M18xP1.5 | 225 | 150 | 335 | 280 | 24 | 25 |100 | 310 | 10

@250| 275 | 225| 60 | 120 | 70 | M56xP2 | 25 | 50 | 30 | 150 | 50 | 30 | 30 | 80 | 3/4” | M22xP1.5 | 275 | 180 | 420 | 355 | 29 | 30 | 120|335 | 30

@300/ 330 | 270 | 70 | 120 | 80 | M64xP2 | 30 | 60 | 30 |170| 55 | 30 | 30 | 80 | 1" | M30xP1.5 | 330 | 212 | 475|400 | 33 | 30 |140 | 365 | 30

# Rear Flange Mounting Type
(CSFB Type)i#& AR EL

S+Stroke

4-AB

MM

13

o H

—
®) _E . L . 74 |
|
Cushion Valve '
X
K1 N__|Q b
Z+Stroke
EI@ A 3E48R8 R ~T Main body size 1254878 )<~ Mounting dimension
ore
dia. | HA | AC | @d | GE | MM K1 K F H N G | G1 S Eii aJ A D X |GAB| Q Z T

@40 |535| 38 | 16 | 35 | 24 |M14xP15| 10 | 12 | 20 | 56 | 30 | 12 | 12 | 33 | 1/4” |[M6xP1.25| 62 | 42 [100| 80 | 9 | 20 169 | 10

@50 | 66 |47.5| 20 | 40 | 32 |M16xP15| 10 | 10 | 12 | 54 | 26 | 12 | 12 | 45 | 1/4” | M8x1.25 | 68 | 50 [110| 90 | 9 12 | 163 | 13

@63 | 75 |56.5| 20 | 40 | 32 [M16xP15| 10 | 10 | 12 | 54 | 30 | 15 | 15 | 45 | 1/4” | M8xP1.5 | 80 | 60 | 130 [105| 11 | 12 [171 | 13

80| 95 | 70 | 25 | 50 | 40 [M22xP15| 12 | 13 | 12 | 65 | 37 | 15 | 15 | 50 | 3/8” [M10xP1.5| 98 | 75 | 160 | 130 [13.5| 12 (201 | 10

@100 113 | 84 | 30 | 52 | 40 |M26xP15| 12 | 12 | 15 | 67 | 37 | 15 | 15 | 50 | 3/8" [M10xP1.5| 114 | 92 | 180 | 150 |13.5| 15 | 206 | 13

@125/ 140 | 115 | 35 | 60 | 40 |M30xP1.5| 15 | 17 | 20 | 77 | 40 | 18 | 15 | 64 | 1/2" [M14xP1.5| 148 | 117 [ 220 | 185 | 18 | 20 | 241 | 15

2150|171 | 133 | 35 | 60 | 50 |M30xP1.5| 15 | 15 | 30 | 95 | 40 | 19 | 18 | 64 | 1/2" [M14xP1.5| 170 | 120 | 270 | 220 | 18 | 25 | 264 | 15

@180| 214 [ 172 | 50 | 85 | 60 |M45xP1.5| 20 | 40 | 25 |125| 50 | 25 | 25 | 80 | 3/4” [M18xP1.5| 220 | 140 {320 (270 | 22 | 25 | 330 | 10

@200( 225|182 | 50 | 110 | 60 |M45xP1.5| 20 | 40 | 25 | 125| 50 | 25 | 25 | 80 | 3/4” |[M18xP1.5| 225 | 150 | 335|280 | 24 | 25 (330 | 10

@250| 275 | 225| 60 (120 70 | M56xP2 | 25 | 50 | 30 | 150 | 50 | 30 | 30 | 80 | 3/4” |M22xP1.5| 275|180 [ 420|355 | 29 | 30 | 360 | 30

@300{ 330 | 270 | 70 [ 120 | 80 | M64xP2 | 30 | 60 | 30 |170| 55 | 30 | 30 | 80 | 1" [M30xP1.5| 330 212 | 475|400 | 33 | 30 | 390 | 30




# Single Clevis Type

[ —1-] 1
(CSCA Type)EEH 2
H OA
| K _F | G | S+Stroke | Gl 2-PT ac
/ |
0 N\ /" o N 7
i = TH e——— k| = =N |
H l
- - ?AB !
o | ad| — =1 .__«@; _______________ ) . {E_._ AT | S
= | | T
H @] l r@
— — — e —— —— :J__ _____ — !
T ) - ;
K1 | N ‘ Cushion Valve Q U
' N L
Z+Stroke
EI@ Z3E48F8 R~ Main body size #5488 K~ Mounting dimension
ore
dia. | DA[OC|Od [@E | | MM |KI[K|F|H|[N]G[GI[Ss [pT| @J LIR[Q[M] oaAB u Z
@40 (535(38 | 16 | 35 | 24 |M14xP1.5( 10 | 12 [ 20 | 56 | 30 | 12 | 12 | 33 |1/4” [M6%xP1.25| 36 | 12 | 20 | 16 | 12H10 15:8'; 185
@50 | 66 [475| 20 | 40 | 32 |M16xP1.5( 10 | 10 [ 12 | 54 | 26 | 12 | 12 | 45 |1/4” (M8xP1.25| 35 | 12 | 12 | 23 | 12H10 18:8:; 186
@63 | 75 [56.5| 20 | 40 | 32 |M16xP1.5( 10 | 10 [ 12 | 54 | 30 | 15 | 15 | 45 |1/4” | M8xP15| 38 | 16 | 12 | 26 | 16 H10 25 :8:; 197
@80 95 | 70 | 25 | 50 | 40 |M22xP1.5( 12 | 13 | 12 [ 65 | 37 | 15 | 15 | 50 [3/8” [M10xP1.5( 49 | 20 | 12 | 37 | 20 H10 30 :8% 238
2100/ 113 | 84 | 30 | 52 | 40 [M26xP1.5| 12 [ 12 | 15 | 67 | 37 | 15 | 15 | 50 [3/8" |M10xP1.5| 57 | 25 | 15 | 42 | 25 H10 35:8'; 248
@125/ 140|115 | 35 | 60 | 40 [M30xP1.5| 15 [ 17 | 20 | 77 | 40 | 18 | 15 | 64 [1/2" |M14xP1.5| 63 | 25 | 20 | 43 | 25 H10 S5 :8:1 284
@150( 171133 | 35 | 60 | 50 [M30xP1.5| 15 [ 15 | 30 | 95 | 40 | 19 | 18 | 64 [1/2"|M14xP1.5| 80 | 30 | 25 | 55 | 30 H10 40 28'1 319
2180( 214|172 | 50 | 85 | 60 [M45xP1.5| 20 | 40 | 25 |125| 50 | 25 | 25 | 80 [3/4” |M18xP1.5( 87 | 40 | 25 | 62 | 40 H10 50 jg:jt 392
©200( 225|182 | 50 (110 | 60 [M45xP1.5| 20 | 40 | 25 |125| 50 | 25 | 25 | 80 [3/4” |M18xP1.5| 87 | 40 | 25 | 62 | 40 H10 50 :8'1 392
@250( 275|225 | 60 (120 | 70 | M56xP2 | 25 | 50 | 30 |150| 50 | 30 | 30 | 80 |[3/4” |M22xP1.5(105| 50 | 30 | 75 | 50 H10 60 :8:; 435
@300( 330|270 | 70 (120 | 80 | M64xP2 | 30 | 60 | 30 |170| 55 | 30 | 30 | 80 | 1” |M30xP1.5(120| 70 | 30 | 90 | 63 H10 75 :8:% 480
# Doubie Clevie Type
§:3:3 |
H bA
| K  F G | S+Stroke | Gl | 2-PT ac
MM L — <
0 Hy f———————— uiu |H |
—4
— ] ]
¢E ¢d — ] 4 .__.@7 ................ . | L . 41—
- | | ]
- — P —— ¢ 7%
T -
K1 ‘ N ‘ Cushion Valve
' ' N
Z+Stroke
Sgr% AEEM R Main body size 2 %278# R~ Mounting dimension
dia. | JA[OC|Od|@E| | MM K1 | K [F H N| G |G1| S |PT 2J L R Q| M OAB D U Z
@40 [53.5| 38 | 16 | 35 | 24 |M14xP1.5| 10 | 12| 20 | 56 | 30 | 12 | 12 | 33 |1/4”|M6xP1.25| 36 [ 12 | 20 | 16 | 12 H10 15:8:; 30 [ 185
@50 | 66 [47.5| 20 | 40 | 32 |M16xP1.5| 10 | 10 | 12 | 54 | 26 | 12 | 12 | 45 |1/4”|M8xP1.25| 35 | 12 | 12 | 23 | 12H10 18:8::15 355|186
@63 | 75 |56.5| 20 | 40 | 32 |M16xP15| 10 | 10 | 12| 54 | 30 | 15 | 15 | 45 |1/4”| M8xP15 | 38 | 16 | 12 | 26 | 16 H10 25:8:; 50 197
@80| 95| 70 | 25 | 50 | 40 |M22xP15| 12 | 13 | 12 | 65 | 37 | 15 | 15 | 50 |3/8” |M10xP15| 49 | 20 | 12 | 37 | 20 H10 30 :8:?; 63 | 238
@100 113 | 84 | 30 | 52 | 40 | M26xP1.5| 12 | 12 | 15| 67 | 37 | 15 | 15 | 50 [3/8” |M10xP1.5| 57 |25 | 15 | 42 | 25 H10 35:8% 71 | 248
@125(140|115| 35 | 60 | 40 [M30xP1.5| 15 | 17 | 20 | 77 | 40 | 18 | 15 | 64 |1/2” [M14xP15| 63 | 25 | 20 | 43 | 25 H10 35 :8::1; 64 | 284
@150{ 171|133 | 35 | 60 | 50 [M30xP15| 15| 15| 30 | 95 | 40 | 19 | 18 | 64 |1/2"|M14xP15| 80 | 30 | 25 | 55 | 30 H10 40 :8:;1; 80 319
180214 |172| 50 | 85 | 60 [M45xP1.5| 20 | 40 | 25 [125| 50 | 25 | 25 | 80 |3/4” |M18xP1.5| 87 | 40 | 25 | 62 | 40 H10 50 :8;; 100 | 392
@200(225|182| 50 |110| 60 [ M45xP1.5| 20 | 40 | 25 [125| 50 | 25 | 25 | 80 |3/4” |M18xP15| 87 | 40 | 25 | 62 | 40 H10 50 :8:% 100 | 392
@250(275|225| 60 |120| 70 | M56xP2 | 25 | 50 | 30 [150| 50 | 30 | 30 | 80 |3/4” |M22xP1.5|105| 50 | 30 | 75 | 50 H10 60 jgj; 126 | 435
2300|330 270 | 70 [120] 80 | Me4xP2 | 30 | 60 | 30 [170] 55 | 30 [ 30 | 80 | 17 [M3oxP15[120| 70 | 30 [ 90 | 63H10 | 7521 [160 480




4 Trumnion Type
(CSTC)izHZE!

OA
o G_, S+Stroke ac
£ | T |
MM ) | AR /- |
N e —— | _F A @
—1
|
A | _Q__ ______ <> ol AL |
L
1 —
Bf-i===gs S (&
T |
LS, | |
H N Q b
W+1/2 Stroke |
Z+Stroke B
Cushion Valve
210% ZAEE4HRE R~ Main body size Z #5488 R ~F Mounting dimension
dia. | JA |AC | @d | GE | MM K1 K [F H N G | G1 S | BT aJ B D (%]0] Q |AR| W 7

240|535 | 38 | 16 | 35 | 24 |M14xP1.5| 10 | 12 | 20 | 56 | 30 | 12 | 12 | 33 | 1/4” |M6%xP1.25| 113 | 63 | 25 | d9 | 30 | 60 |102.5| 149

@50 | 66 (47.5| 20 | 40 | 32 |M16xP1.5| 10 | 10 | 12 | 54 | 26 | 12 | 12 | 45 | 1/4” |[M8xP1.25| 126 | 76 | 25 | d9 | 30 | 73 |1025| 151

263 | 75 |56.5| 20 | 40 | 32 |M16xP1.5| 10 | 10 | 12 | 54 | 30 | 15 | 15 | 45 | 1/4”| M8xP1.5| 138 | 88 | 25 | d9 | 30 | 85 |106.5( 159

@80| 95 | 70 | 25 | 50 | 40 (M22xP15| 12 | 13 | 12 | 65 | 37 | 15 | 15 | 50 | 3/8” [M10xP1.5( 164 | 114 | 25 | d9 | 30 | 111 | 127 | 189

2100{ 113 | 84 | 30 | 52 | 40 |M26xP15| 12 | 12 | 15 | 67 | 37 | 15 | 15 | 50 |3/8”|M10xP1.5( 182|132 | 25 | d9 | 30 [ 130|129 | 191

@125/ 140 | 115 | 35 | 60 | 40 |M30xP1.5| 15 | 17 [ 20 | 77 | 40 | 18 | 15 | 64 | 1/2” |M14xP1.5| 220|160 | 30 | e8 | 50 [ 158 | 149 | 221

@150 171 | 133 | 35 | 60 | 50 |M30xP1.5| 15 | 15 | 30 | 95 | 40 | 19 | 18 | 64 | 1/2" [M14xP1.5( 274|194 | 40 | e8 | 60 | 190 | 167 | 239

@180/ 214 {172 | 50 | 85 | 60 [M45xP1.5| 20 | 40 | 25 |125| 50 | 25 | 25 | 80 |3/4” |M18xP1.5| 314 (260 | 45 | e8 | 65 |256 | 215 | 305

@200{ 225 | 182 | 50 | 110 | 60 |M45xP1.5| 20 | 40 | 25 [125| 50 | 25 | 25 | 80 | 3/4” [M18xP1.5( 350|260 | 45 | e8 | 70 | 256 215 | 305

@250( 275 | 225 | 60 [ 120 | 70 | M56xP2 | 25 | 50 | 30 (150 | 50 | 30 | 30 | 80 |3/4” |M22xP1.5(420|320| 56 | e8 | 80 | 315|240 | 330

2300]{ 330 | 270 | 70 [ 120 | 80 | M64xP2 | 30 | 60 | 30 |170| 55 | 30 | 30 | 80 | 1" |M30xP1.5| 500|370 | 65 | e8 | 85 | 365 | 265 | 360

& BIRIEE
Rod End Adapter

IPAB.]
MM : : | 3 MM
s Lt =4 =]
e i L e i
T L )
A B A B
L L
|Z4$3%88 I-Adapter(unit:mm) YZU$£EE Y-Adapter(unit:mm)
gloﬁ% Z2 #2488 K~ Mounting dimension gloﬁ;% Z #4888 K ~I Mounting dimension
da. | A | B |oc| L T oAB MM R da.| AlBJec[L] T |[D] oaB MM
@40| 20 | 22 | 28 | 55 | 16 31 | 12H10 | M14xP1.5 | 14 @40 | 20 | 22| 28 | 55 | 16133 | 44 | 12H10 | M14xP1.5
@50| 20 | 27 | 30 | 60 | 16 31 | 12H10 | M16xP1.5 | 15 @50 | 20 | 27 | 30 | 60 | 16133 | 44 | 12H10 | M16xP1.5
@63| 20 | 27 | 30 | 60 | 16 31 | 16H10 | M16xP1.5 | 16 @63 | 20 | 27 | 30 | 60 | 16333 | 44 | 16 H10 | M16xP1.5
@80| 26 | 37 | 40 | 71 | 28 31 | 20H10 | M20xP15 | 20 @80 | 26 | 37 | 40 | 71 [ 28793 | 60 | 20 H10 | M20xP15
@100 28 | 37 | 44 | 83 | 30 31 | 20H10 | M26xP15 | 22 @100 28 | 37 | 44 | 83 | 30333 | 66 | 20 H10 | M26xP1.5
@125 35 | 60 | 60 | 100| 32 51 | 25H10 | M30xP15 | 30 @125 35 | 60 | 60 |100| 32197 | 64 | 25 H10 | M30xP1.5
@150 45 | 60 | 70 | 110 | 40 33 | 30H10 | M30xP15 | 37 @150| 45 | 60 | 70 | 110 | 40333 | 80 | 30 H10 | M30xP1.5
@180| 50 | 70 | 90 |125| 50 91 | 40H10 | M45xP15 | 45 @180| 50 | 70 | 90 [125| 50333 [100| 40 H10 | M45xP15
@200( 50 | 70 | 90 | 125| 50 31 | 40H10 | M45xP1.5 | 45 @200| 50 | 70 | 90 [125| 50333 |100 | 40 H10 | M45xP1.5
@250 63 | 80 | 110 | 160 | 63 3 | 50H10 | M56xP2 | 55 @250| 63 | 80 | 110|160 | 63333 (126 | 50 H10 | M56xP2
@300 75 | 90 | 140|175| 80 03 | 63H10 | Me4xP2 | 70 @300| 75 | 90 | 140|175 | 80 193 [160| 70 H10 | M64xP2




s B &L
Hyd.Cylinder

A

General Calculating Formula

F =PXA F:32 5% 5 73 /Theoretical Output(kg/cm?® ) P:B){EBE JJ/Action Pressure(kg/cm? )
Q =AXV Q:EE A & /Pump Delivery(/min) A= BRE & /Under Press Area(cm? )
HP=PXQ V3E B) 3% E /Piston Speed(cm/min) D:FL & N {&¥ Dia. of Cylinder Bore(mm)
450 HP:E5 3% £5 73 /Motor Power(HP) n:H EE 3R W ER/Eff. of Hyd.Pump
t =PXD t:#1 B A [E /Cylinder Bore Thickness(mm) & 37138 38 fZ /Tension-Resistant
2000S 85 Strength(kg/cm? )
BN MIA
The lllustration For Order System
Z B (Ew] (e <[Frl—[EE
Mounting Cushion Bore Stroke Rod series
Styles Diameter
N: No Cushion B: Heavy Duty
B: Both End Cushion C: Standard Duty
H: Head End Cushion
R: Rod End Cushion
FA,FB, LA, LB, CA, TC. & XfE1E AR X Lo dE
XIEBE SN BRERRMEEE  BUWHEBEREIES-10m/minbd H1F - BEEMI0EEES . =R T
BFEXEE o

XEIHEEREERRIESUAFIBIERT - BIFAIEEE  {ERMITERS 2 ° ‘
) The cushioning style which standard is no cushion but the hyd. cylinder action speed is at 6-10m/min

and over. That must considered install cushion, installation please specified at order.
»¢ During the hyd. cylinder action speed must implied rapid speed or much slow speed and then,

specified at order and accompanied with our manufactured.

FEBHE NS E®*K Theoretical Output Refer Data
ERE Operating Pressure kgf/cm2

TR EEe
Bore | Rod 20kg 30kg 50kg 70kg 100kg 120kg 140kg 160kg 210kg
dia. | size

i ot SN Mouhs i inas = ont@ i o it Slin S S o Uit SingS o e e iini =o i t e Eiin S S ou s Siin o il
40 20 188 | 252 | 282 | 378 | 470 | 630 | 658 | 882 | 940 | 1260 | 1128 | 1512 | 1316 | 1764 | 1504 | 2016 | 1974 | 2646
50 25 | 294 | 392 | 441 | 588 | 435 | 980 | 1029 | 1372 | 1470 | 1960 | 1764 | 2352 | 2058 | 2744 | 2352 | 3136 | 3087 | 4116
63 30 | 482 | 624 | 723 | 936 | 1205 | 1560 | 1687 | 2184 | 2410 | 3120 | 2890 | 3744 | 3374 | 4368 | 3856 | 4992 | 5061 | 6552
80 40 | 754 | 1006 | 1131 | 1509 | 1885 | 2515 | 2633 | 3521 | 3770 | 5030 | 4524 | 6030 | 5278 | 7042 | 6032 | 8248 V7917 10563
100 | 50 | 1178 | 1570 | 1767 | 2356 | 2946 | 3927 | 4124 ‘5498 5891|7854 | 7069 | 9425 | 8247 | 1000 | 9425 | 12566 | 12370| 16493
125 | 60 | 1889 | 2454 | 2833 | 3682 | 4722 | 6136 | 6611 | 8590 | 9444 |12272|11333| 14736 | 13222/ 17180 (1511019635 | 19830{25770
150 | 70 | 2764 | 3534|4147 | 5301 | 6911 | 8835 | 9675 | 12369|13822| 17670 | 16586 |21204|19351|24738|22115|28272|29026(37 107
180 | 80 | 4084 [ 5089|6126 | 7634 | 10210 12724‘ 14295 | 178132042 1| 25447 | 24505 | 30536 |28589| 35626 | 32674 | 407 15|42884|53439
200 | 100 | 4712|6283 | 7067 | 9425 |11781|15708| 16493 |21991|23562|31416|28274 |37699|32987|43982|37699|50266|49480|65974
250 | 140 | 6739 | 9018 [10108 | 14726 | 16847|22544 | 23586 | 31562|33694 | 49088 | 40433 | 5890647 172|68723|53910| 72141{70757|94685
300 | 180 | 9048 |14137|13572|21206|22620|35343| 31667 |49480|45239|70686 |54 187 |84823|63335|98960| 72382| 113097 95002 118440

Bl - BEREEDETEHL For Example:The calculating for practical output

135 {85 A8 BR 0 B 50kgf/cm? |1 Si) BR 1 79 1K 1If the operating pressure is 50kgf/cm? and the bore
B o 80IF BB NE&MEET - 18 EEED dia. of hyd. cylinder is ¢ 80mm we can from the

E 0 %R 2515kgf/cm?  © refering data and achieve the output of hyd. cylinder
28 TR 73Rl /& 2515 X 0.8= 2012kgf/cm? is 2515 kgf/cm? .

2.But the practical output which is 2515X 0.8= 2012
kgf/cm?



OJ Series
RPIEEEE 2T

Internal structure and part name

% @3 1) @8
\ &J{\
{} _____ ; I
Tallal
I ]
6/3 969 €l
I& §/NO| #&#&/Description & /Material #5/Q.ty | I5E/NO| & 7&/Description & /Material E/Qty

1 |KE#®IE/shaft rod S45C 1 13 | 5&Z/Piston KCD - BC6 1
2 |B3EEiB3/Dust-proof oil sealer B AL RE/Synthetic resin 1 14 | 5EZHE/OIl seal A AEIRE/Synthetic resin 2
3 |Ei/follower plate SS41 1 15 | OZBR/Oring NBR 2
4  |EiE/Sleeve JB4m/BC6 1 16 | #%/Pear cover SS41 1
5  |ElZ/Front cover SS41 1 17 | $208/Scrrew nut S45C 8
6 iR AET/OIl seal & Al BE/Synthetic resin 1 18 | 124#/Screw bolt S45C 4
7 |@IEREI/Plugs $45C 2 19 |OE#/Oring NBR 2
8  |38E/Spring SUB 2 20 | ZEVEEE4/Adjusting screw SCM3 2
9 |OZIR/Oring NBR 2 21 | #EERIRE/Plugs for cushioni valve S45C 2
10 |#f%k/Steel ball g% iffl/Bearing steel 2 22 | #&2&¥=/Ushioning ring S45C 1
11 ||AELE/Cyl.tube STKM13C 1 23 | HAMAGNET 122 (ME) 1
12 | OBUBB/O ring NBR 1

ﬁaﬁ 203 EEH$1/Dust-proof sealer 6EM1R A FT/Shaft sealer 9I - 1|2 - 14 . 1|5§ 1|92
gﬂg Ci%fZ/Shafcdia | BI/%/Shafcdia | CI84&/Shafedia | BI{&/Shafedia 8%:2 8%:; P?ffr:;lﬂsfal (c))i}r:ijriz 8%:3
M 1 1 1 1 2 1 2 2 2
@40 DH-20 DH-25 UHS-20 UHS-25 P12 P16 UHP-40 G35 P8
50 DH-25 DH-30 UHS-25 UHS-30 P12 P20 UHP-50 G45 P8
263 DH-30 DH-35 UHS-30 UHS-35 P12 P20 UHP-63 G58 P8
80 DH-35 DH-40 UHS-35 UHS-40 P12 P25 UHP-80 G75 P8
@100 DH-45 DH-50 UHS-45 UN-50 P12 G35 UHP-100 G95 P8
2125 DH-50 DH-60 UN-50 UN-60 P12 G40 UHP-125 G120 P8
@150 DH-60 DH-70 UN-60 UN-70 P16 G40 UHP-150 P140 P10
2180 DH-70 DH-80 UN-70 UN-80 P16 G70 UHP-180 G170 P10
@200 DH-80 DH-100 UN-80 UN-100 il G80 UHP-200| G190 P10
@224 DH-100 DH-110 UN-100 UN-110 P16 G100 UHP-224 G210 P10
@250 DH-110 DH-125 UN-110 UN-125 P16 G110 UHP-250 G240 P10




4 0J SD Type |

2-PT T‘
. . )
{5___ W e —— A VTN
\
oC| oAl Bl H — |— 4 1 RN S U U — 4
. - ) S
D E F G L+Stroke H
(L1+Stroke)
P+Stroke
4 0OJ SD Type I
K M
2-PT
i | - _,\Ll.ll__ ____________ ._\\_lJl_._. ) }—N A 5
— [ \ » /— /_
¢C dA|l B — —_ 4 ) — _—————— e —— . I — 7 — — —— -
(e -
T . N .~/ L‘
D E ‘ F ‘ G L+Stroke G F E+Stroke 2xD
(L1+Stroke)
P1+Stroke
AR LIREIURBI BEARE
Note: Basic length of L1 induction hydraulic cylinder
HR [ EER AR~ Main body size & #%%£4HEA K~ Mountinging dimension
i s o e gc| D|E|F |G |H|K|L|L1]|M N R|s|P|P1| T]|PT
gao| S |32 | MIERI2 | 33 1% |20 |11 |36 | 26 | 54 | 50 | 55| 13 | M1OP1.5 | 65 | 45 [143 | 164 | 13 |14’
C | 25 | M22P15 | 40 | 30 17 »
gso| § |33 | M22P15 | 43 | 38 (30 |13 |42 | 34 |68 | 50 | 55 | 13 | M10P1.5 | 75 | 52 |169 | 190 | 1L |3/8
C 30 M26P1.5 45 35 18 »
ge3| § |32 | MaeP15 | 23 | 25 (35 | 15 | 42 | 34 | 75 | 50 | 55 | 15 [M12P1.75| 90 | 63 |176 | 199 | 1& |3/8
geo| G | 35| MoB1S | 22| 42 |35 |18 |46 [ 40 | 79 | 50 | 60 | 17 | M16P1.5 | 110 | 80 | 189 [ 213 | 33 |1/’
p100| § | 43 | M4opts | 80 | 42 |40 |20 | 50 | 40 | 90 | 69 | 74 | 19 | M18P1.5 | 135| 98 | 219|249 33 |1/2
o125| § |29 | M4SPI5 | 53 | 85 |45 |24 | 58 | 48 [ 104 | 69 | 74 | 21 | M22P1.5 | 136 | 122 | 244 | 278 | 33 |3/4”
o1s0| S | 89 | MeorzO | 75 1 80 |50 | 28 | 58 | 48 | 113 | 69 | 74 | 23 | M24P1.5 | 195 | 148 | 253 | 291 | 33 |3/4”
o1so| § | Z3 | Meor2o | 8BS | 113 |55 | 33 | €8 | 58 |127| 90 | 90 | 25 | M30P1.5 | 235 | 182 | 305|347 | 33 | 1
@200| § | 0| Moob2d | 199 (129 |55 | 37 | 68 | 58 [ 137 | 90 | 90 | 27 | M32P2.0 | 262 | 200 | 308 | 355 | 30 | 1
C 100 | M90P2.0 120 | 140 20 »
o224| § | 199 | MeoP20 | 120 | 180 | 60 | 41 | 68 | 58 |146| 90 | 90 | 29 | M32P2.0 | 292 | 225|317 | 365| 39 | 1
(] 110 | M100P2.0 | 130 | 150 20 "
o250| S | 132 | MI%E29 | 132|152 | 65 | 46 | 68 | 58 |169| 90 | 90 | 31 | M38P2.0 | 325 | 250 | 327 | 383 | 23 114




4 OJ FA Type |

4xpX
K M R
2-PT ‘I—‘ |
(7 "“_!_ﬂ“’—\ . A\ | T 8y
14 W | v e Wi
1+ H-E] é} ORIE® ﬂ}
l
oC| oAl Bl H —— T D« 4 4 ) e . 4 Y| W 4 | _____________ . .
\—/ 4 ) .
m R e J B & &
. J

|
i
D E ‘F‘ G L+Stroke H ‘ S ’

(L1+Stroke) U
P+Stroke \
4 OJ FA Type Il
K M
2-PT
(Vw7 ’_“_f_n*’_‘_
e e R et ._\\_{J/_._._; N /A /L
oc|oale] Al ¥Saall 1 B I P I AN DR i
. )
= 4 — - . _A_$; -l
T () S— U G T
D E F G L+Stroke G F E+Stroke 2xD
(LL+Stroke)
P1+Stroke
AIRC  LIRKEUHBE EARE
Note: Basic length of L1 induction hydraulic cylinder
g | EER ZAEER~T Main body size & #%<#HE R~ Mountinging dimension
ldlon] B Joc| o e|Flc|nlx|e]ulm] ~n [ef[e]er|r]s]ulv]w|ex]v]T
@40 § | 52 |Moorrs | 33 153 | 20 | 11|36 | 26 | 54 | 50 | 55 | 13 |M10PL5 |143| 164|1/4°| 65 | 45 | 95 [118| 46 | 11 | 69 | 13
@50 | § |35 |M2PL5 | 40130 | 30| 13 |42 |34 |68 |50 | 55 | 13 |M10P15 [ 169]190|3/8"| 75 | 52 [115|145| 58 | 13 | 85 | 17
63| § |32 |M2PLS 143132 | 35| 15 (42 [34 [ 75 |50 | 55 | 15 |M12PL75176|199|3/8| 90 | 63 [132[165| 69 | 15 | 98 | 18
o80| § |39 |MPLS 150149 135 | 18 |46 |40 |79 |50 | 60 | 17 |M16PLS |189(213(1/2"|110 | 80 [155|190| 87 | 18 [118 | 33
gr00| § |25 ML 1 60 143 1 40 | 20|50 | 40 | 90 | 69 | 74 | 19 |M18PLS |219|249(1/2"| 135 | 98 |185 (224|109 20 | 145 | 33
0125 § | 29 [MisPLs | €2 135 1 45 | 24 | 58 | 48 |104| 69 | 74 | 21 |M22PL5 | 244 278|3/4"| 136 [ 122 | 224 (272|132 24 [175 | 33
o150 § | 69 |M0P20 1 2180 | 50 | 28 | 58 | 48 |113| 69 | 74 | 23 |M24PL5 | 253|291 (3/4"| 195 | 148 | 265 | 315|155 | 28 |206 | 33
o180 § | 49 |MEOP20 | 8813781 55 | 33 | 68 | 58 |127| 90 | 90 | 25 |M30PLS5 [ 305|347 17 235 |182|315|375|185| 33 234 3]
@200 § |B9[Mrop20 110011201 55 | 37 | 68 | 58 |137] 90 | 90 | 27 |M32P2.0 308|355 | 17 262 (200 |355 (425 206 | 36 |272 | 33
@224 § |199(M0P20 112011401 60 | 41 | 68 | 58 146 90 | 90 | 29 | M32P2.0 | 317|368| 1 | 292|225 |395 475|230 42 310 39
o250 § |13Q[M100P20113011301 65 | 46 | 68 | 58 (16990 | 90 | 31 |M38P2.0 | 327 383|114 325 | 250|425 515 | 250 | 45 (335 | 39




4 OJ FB Type |

K AxBX | R
M 2-PT \ ‘ | ‘
t ,—V—“—é e é}» (_J:L_“_i ) {:}
. Ny I\ 7 e I .
N,% . | | IT]rL/ | T:t/l
—r | | |
oC| dA| B . 1 1 ] . .1 R __,_,_,:_ ...... |____: ...... =
| | !
. ~ ~
— $ 7Ty | T G}
R | RN ] I— 1 _\_+_ . _‘_+_
T ﬁ D — S _!_ _ )
|
D E F G L+Stroke H F | u |
(L1+Stroke) V
P+Stroke
4 OJ FB Type I
K
M 2-PT
>_|< N
NE' N P O\ W72 B A
| [} |- /
oC| oAl B 4 — 4 — 4 — — — — ————— . —_t— ) — ——— —
— 1 C
— {gi:_ __________________ - _ i :
T —/
D E F G L+Stroke G F E+Stroke 2xD
(L1+Stroke)
P1+Stroke
FERC  LIREUHBRIIERNRE
Note: Basic length of L1 induction hydraulic cylinder
I | Z2E A#2 R~ Main body size & #%Z£4HEA K~ Mountinging dimension & /£ F& =0 H B2 &l
Bore| Rod
da |sries| GA| B |@C|D|E|F|G|H|K|L|L1|M| N |P|PI[PT|R|S|U|V|W|ex|Y|T
@40| § | 32 | MISPT5 1 38| 23 |20 [ 11| 36| 26 | 54 | 50| 55 | 13 | M10P1.5 [154|164|1/47| 65 | 45 | 95 [118| 46 | 11 | 69 | 13
250| S | 25 | Maopre | 42|39 30| 13| 42|34 |70 | 50|55 |13 |Mi0P15|182|190|3/8"| 75 | 52 [115|145| 58 [ 13 | 85 | 1Z
63| S | 32| Moopia | 50| 35| 35| 15| 42| 34|77 | 50| 55 | 15 |M12pP1.75191|199|3/8"| 90 | 63 |132[165| 69 | 15 | 98 | 18
80| S | 35 | Moot | 22 | 42 | 35| 18 | 46| 40 |79 | 50 | 60 | 17 | M16P15 [207|213|1/27| 10| 80 |155|190| 87 | 18 118 23
o100] § | 43| MaOP1S 1 82 | 42 |40 |20 | 50 [ 40 [ 90 | 69 | 74 | 19| M18P1.5 239|249 1/27 |135| 98 [185(224[109] 20 |145| 33
0125 § | 39 | Meonas | 52 | 22 | 45| 24 | 58 | 48 |104| 69 | 74 | 21 | M22P15 |268|278|3/4” | 165|122|224|272(132| 24 [175| 5]
150] S | 89 | Moopao | a2 | S0 | 50 | 28 | 58 | 48 |113| 69 | 74 | 23 | M24P15 | 281291314 195|148(265|315|155| 28 |206| 33
2180| § | 29 | Mooba s | B[ 143| 55 | 33 | 68| 58 [127] 90| 90 | 25 | M30P1.5 (337 (347| 17 |235|182|315|375|185| 33 |243| 5
0200 § | &% | Moopao |199(129| 55 | 37 | 68 | 58 |137| 90 | 90 | 27 | M32P2.0|345355| 17 |262|200(355|425|206 | 36 |272| 3
g224| g |199|MOP20 112011451 60 | 41 | 68 | 58 |146| 90 | 90 | 29 | M32P2.0 |358(368| 17 |292|225|395|475|230| 42 |310| 53
o250 § | 112 [M100P2.01130 11391 65 | 46 | 68 | 58 |169| 90 | 90 | 31 | M38P2.0 |373 (383 114" |325250(425|515|250 | 45 |335| 59




4 OJ LA Type |

K M
2-PT |
r—r—“—r T > A\ | T ~)
{E Ao e R N \\I//
— |
oC|oA| B| H— 4+ Ly ] . | 4 | ______ Y
) i z
<EE —+—FFtr=—————1 j’}j@fk D : 63) | W
. i) L, |
S AxpX
D E F G L+Stroke H U
(L1+Stroke)
\
! Q+Stroke
P+Stroke
4 OJ LA Typel Il
K M
2-PT
‘@j__\LHL _____________ _.AL|_LL._ — N A
I £
oC| A| B N1 4 | U I — S e =
__T_h_ _____________ TlT_ﬁ
T _l_f_l_a _l_|_|_/
D E F G L+Stroke G F E+Stroke 2xD
(L1+Stroke)
Q1+Stroke |
R LIRKEURHBIIEARE
Note: Basic length of L1 induction hydraulic cylinder
i |z ZREER~F Main body size & % 24HE K~ Mountinging dimension
B
e lem|@A| B |@C|D|E|F|Gc|H|K|L|L1|M| N |P|PT|@l|at|R|s |1 |U|V ex|Y|z]|T
gao| S |32 | MI8P1S | 351 25 1 20| 11|36 |26 | 54 | 50 | 55 | 13 |M10P15|143|1/4’| 81 | 86 | 65 | 45 | 13 | 90 [112] 1165 |325| 13
oso| § |35 |M22P15 |40 |39 | 30| 13| 42 |34 (70 | 50 | 55 | 13 | M10P1.5169|3/8"| 88 | 92| 75 | 52 | 15 [109|132| 13 | 75 |375| 12
o63| § | 39 | M2SF15 | 32|35 | 35| 15| 42 (34 |77 | 50 | 55 | 15 |M12P1.75|176(3/8"| 88 | 92 [ 90 | 63 | 18 [128[154| 15|90 | 45 | 38
os0| 5 | 35| M39P1.5 | 59 120 | 35| 18 | 46 | 40 | 79 | 50 | 60 | 17 |M16P1.5|189|1/2’| 93 | 96 |110| 80 |20 |152|184| 18 |110]| 55 | 33
o100] S | 23 |Ma2b12 | 82 (42 | 40| 20|50 | 40|90 | 69 |74 |19 |M18P1.5(219|1/2°|114[119|135| 98 | 24 [178|210] 20 [135|67.5| 53
o125\ S | 23| MaSP1S 163 |28 | 45|24 | 58 | 48 |104| 69 | 74 | 21 | M22P1.5|244|3/47|122(127|165(122| 28 (211|250 24 [165|82.5( 33
o150 S | 89| MoOP2.01 75189 | 50| 28| 58 | 48 |113| 69 | 74 | 23 | M24P1.5(253|3/47|122(127|195(148| 32 |255|300| 28 [195|97.5| 39
B | 70 | MeoP2.0 | 85 | 80 : 5] 20
2180 5 | &5 | MOOF20 | 8511101 55| 33 | 68 | 58 [127| 90 | 90 | 25 | M30P15|204| 1" [153|158(235(182| 37 |300|354| 33 [2351175| 3
oo00| § | £%|M70P2.0 110011201 55| 37 | 68 | 58 |137| 90 | 90 | 27 | M32P2.0|298| 1" |153|158(262(200| 42 [326|385| 33 [262|131| 53
o224 § [190|Mo0L2,011201183| 60 | 41 | 68 | 58 |146| 90 | 90 | 29 | M32P2.0|307| 17 |153(158(292(225 47 (360|420 | 36 [292|146| 53
g2so| S [1321M19903:011321132| 65 | 46 | 68 | 58 |169| 90 | 90 | 31 | M38P2.0(327|114'(153|158|325(250| 52 |405|476| 42 (325|1625| 39




4 OJ LB Typel

oc| oAl B] | — -

| 5
I v w F G L+Stroke H w v | | u | 4xDX
(L1+Stroke) ) R
Q+Stroke
4 OJ LB Typel ll
D K E+Stroke 2xD
M
.
B —— RN/ . N A ;
oC| oAl B L 1 'Sy 1 ] 1 4 <">
| ] ]
J
I 111
I \ W F G L+Stroke G F W \
(L1+Stroke) '
Q1+Stroke
AR LIREURBRIIEARE
Note: Basic length of L1 induction hydraulic cylinder
4% |EE ZRE2 R ~F Main body size & #% %<4 K~ Mountinging dimension
B
e lem|@A| B |@c|D|E|F|G|H|Kk|L|L|M| N |PT|Qlat|R|s|I1|u|Vv|iw|ex|Y|z]|T
@a0| § | 32 | Mi8P1-5 | 33122 | 20| 11| 36|26 |54 |50 | 55 | 13 [M10P1.5|1/4”|187|197| 65 |45 | 8 |45 |13 |32 |11 |755|43 | 15
250 | § | 33| M22P1.5 | 49130 | 30| 13| 42|34 |70 | 50 | 55 | 13 [M10P1.5|3/8”|209|230| 75 |52 | 8 |52 |15 |35 | 13 [875|50 | 1§
@63| § | 39 | M26P1.5 | 32135 | 35 (15| 42|34 |77 | 50 | 55 | 15 |M12P1.753/8"|225[248| 90 | 63 | 10 | 63 | 18 | 42 | 15| 105| 60 | 18
80| § | 35| M39P15 | 59| 40 | 35 | 18 | 46 |40 | 79 | 50 | 60 | 17 |M16P1.5|1/2"|254[278|110| 80 | 12 | 80 | 20 | 50 | 18 |127| 72 | 33
2100 § | 23 | Maon1-2 | 82 | 42 | 40 |20 | 50| 40|90 | 69 | 74 | 19 [M18P1.5|1/2" |289(319(135| 98 | 12 | 98 | 23 | 55 | 20 |1525| 85 | 33
g125 § | 39 | MASPT-5 | 83 1 B2 | 45 | 24 | 58 | 48 [104| 69 | 74 | 21 |M22P1.5(3/4" 331|365[165|122| 15 [122| 29 | 66 | 24 |1875/105| 33
o150 § | 83 | MoOP2.0 | 75 | 89 | 50 | 28 | 58| 48 |113| 69 | 74 | 23 |M24P1.5|3/4” |353(391|195|148| 18 |148| 30 | 75 | 28 |211|123| 33
o180| § | 49 | Meor2.0 | 8511101 55 | 33 | 68 | 58 [127| 90 | 90 | 25 |M30P1.5| 17 |419]462(235|182| 20 [182| 40 | 85 | 33 |2655|148| 33
@200 § | 29| M7oP2.0 11001120 55 | 37 | 68 | 58 [137| 90 | 90 | 27 [M32P2.0| 17 |449|496|262|200 25 [200]| 40 | 98 | 36 |296 |165| 33
@224| § 19| MooP20'112011401 60 | 41| 68 | 58 [146| 90 | 90 | 29 |M32P2.0| 17 |487|538(292|225| 30 [225| 45 |115| 41 |331|185| 33
@250 S |1221M199R23(132|132| 65 | 46 | 68 | 58 |169| 90 | 90 | 31 |M38P2.0|1 114" |522(578|325|250 35 [250| 50 [130| 46 [3705|208| 33




4 OJ CA Typel |

<

!

P4
-2
o

-

eAl Bl T—1— T

|
g |
iE O—©
!
T A I Wy
W
S
D E F G L+Stroke H U \ R
(L1+Stroke)
P+Stroke
4 0OJ CB Type
K
R
M 2-PT S
’_Yr4 A } T
Nt S B W /8 ey D1 V| D
! Y%/ _ \V%)
__ - I O
ol ol ] 11 ] X _____A_}_A_____
. ——— | | | —
R A ————— a | le
\¥%/ ! \¥%/
T ) }
W
CX
D E F G L+Stroke H U \
(L1+Stroke)
P+Stroke
AR L1EEIUR B EARE
Note: Basic length of L1 induction hydraulic cylinder
TR | EER K32 R~ Main body size & #%%:4HE8 K~ Mountinging dimension
Bore| Rod
dia. |series|PA| B |D|E|F |G |H|K|L|LI|M N PIPT|R|Ss|U|V|W|X|cx|T
oao| S |32 |MI8E1-2| 23 | 20| 11|36 |26 |54 | 50 | 55 | 13 [M10P1.5|181|1/47| 65 | 45 | 38 | 16 | 25 | 16 | 50 | 13
C | 25 |M22P15] 30 > 1
os0| § |35 |M22B12| 32 | 30| 13|42 |34 |70 (50|55 |13 |[M10P1.5(|214|3/8”| 75 | 52 | 45 | 20 |31.5 20 |63.5| 11
63| § |32 |M2EE12| 32 | 35| 15|42 |34 |77 (50|55 |15 |M12P1.75/239|3/8”| 90 | 63 | 63 | 30 | 40 | 30 | 80 | 13
peo| § | 35 |M39P121 49 | 35| 18|46 |40 (79 |50 | 60 | 17 |[M16P1.5|261 [1/2”|110| 80 | 72 | 30 | 40 | 30 | 80 | 23
o100 § |45 |MA2512| 42 |40 | 20|50 |40 | 90 | 69 | 74 | 19 |M18P1.5(|303 [1/27|135| 98 | 84 | 40 | 50 | 40 |100| 33
o125 § | 29 |MA2B13| 22 | 45 | 24 | 58 | 48 |104| 69 | 74 | 21 [M22P1.5|307 |3/4”| 165|122 63 | 50 | 63 | 50 |125| 39
o1s0| § | 69 |MOEZ3| 89 | 50 | 28 | 58 | 48 [113| 69 | 74 | 23 [M24P1.5|333 |3/47| 195|148 | 80 | 63 | 80 | 63 |160| 33
o180 S | 23 [MOOR3:3| 143 |55 | 33 |68 | 58 (127 | 90 | 90 | 25 [M30P1.5(404 | 17 [235(182(100| 80 100 | 80 |200| 23
o200 S | &% |MoOE53|129| 55 | 37 | 68 | 58 [137| 90 | 90 | 27 |M32P2.0 (423 | 17 | 262|200 115 | 90 [125| 90 |250 | 33
p224| S | 199 |MOOP2011401 60 | 41 | 68 | 58 [146| 90 | 90 | 29 |M32P2.0 [442 | 17 |292|225|125|100|125|100|250| 33
B 110 [M100P2.0| 180 ; 20
oos0| § | 132 (M100P2.01 1801 65 | 46 | 68 | 58 (169 | 90 | 90 | 31 [M38P2.0 |452 |1 14’ | 325(250| 125|100 |125 | 100|250 | 33




4 OJ TC Type |

2-PT
L+Stroke M

DA

(L1+Stroke)

D E F G | H w w
Q+Y2 Stroke . Y
P+Stroke
4 0J TC Type I
2-PT
L+Stroke M
(L1+Stroke)
)] (v Ie
. _._.Ax.i_u._,_._ N A ;
[ ) = L ()
on| 8| J_ 1 B B I za (N I l
] A/
__/ __/
T _::__ ....... ;3} )
D F G G F E+Stroke 2xD
Q+Y2 Stroke
FIRC  LIREUHB I ERRE
Note: Basic length of L1 induction hydraulic cylinder
HIE fEER K52 R~ Main body size & #4548E8 /<~ Mountinging dimension
Salees|oa]l B |D|E|F|G]n|k]|L|[u[m] N [Pr[plalrR[s[ulvw][x]T
pao| § [ 22 | MISET21 28 1 20| 11| 36|26 |54 | 50 | 55| 13 [M10P1.5(143|1/4”| 72 | 65 | 45 | 69 [109| 20 | 20 | {3
oso| § | 25| M22P15 1 30 | 30| 13| 42|34 (70 | 50 | 55 | 13 [M10P1.5(169|3/8"| 80 | 75 | 52 | 85 |135| 25 | 25 | 1§
oe3| g |32 | MeE1>1 3% | 35| 15| 42|34 |77 | 50 | 55 | 15 [M12P1.75(176|3/8"| 82 | 90 | 63 | 98 |158| 30 | 30 | 3§
@8o| S | 35 |M3OP15 | 40 | 35 | 18 | 46 | 40 | 79 | 50 | 60 | 17 |M16P1.5|189|1/2"| 89 [110| 80 [118|178| 30 | 30 | 3
oto0| § |45 | MAOE1S | 45 | 40 | 20 | 50 [ 40 | 90 | 69 | 74 | 19 |M18P1.5|219 | 1/27[104.5(135| 98 |145|225| 40 | 40 | 30
o125| S | B | MaSE1-> | 22 | 45 | 24 | 58 | 48 |104| 69 | 74 | 21 |M22P1.5|2443/4”|116.5165| 122|175 |275| 50 | 50 | 23
o150 5 | 83 [ Maopa D | 83 | 50 | 28 | 58 | 48 [113| 69 | 74 | 23 |M24P1.5|253 | 3/4"|120.5(195| 148|206 | 332| 63 | 63 | 50
o180l § | 88 | Moopao | 149| 55 | 33 | 68 | 58 [127| 90 | 90 | 25 [M30P1.5304| 17 | 141|235| 182|243 |403 | 80 | 80 | 30
2200 S | {50 | MooEa-91129| 55 | 37 | 68 | 58 |137| 90 | 90 | 27 |M32P2.0{308| 17 | 145262| 200|272 452 90 | 90 | 33
@224) § | 190 | MoOP20 17801 60 | 41 | 68 | 58 |146| 90 | 90 | 29 |M32P2.0{317| 17 | 149292| 225|300 500 100 |100| 53
@250 § | 118 | M100P2.01132| 65 | 46 | 68 | 58 |169| 90 | 90 | 31 |M38P2.0|327|114"| 159 |325| 250|335 |535 (100|100 | 23




4 OJ TA Type |

i ; 4 ) l T \

— G == B @ o)

DA B-_ ___ / .__._. _ ] - J | SR B | _______ — — - eX
__E \/ |

D E F G L+Sreoke H W U W

J (L1+Stroke)
\%

P+Stroke

4 OJ TA Type Il

~
<

D E F G L+Sreoke G F E+Stroke 2xD
) (L1+Stroke)
P1+Stroke

FEEC  LIRNEIVHBEI ERRE
Note: Basic length of L1 induction hydraulic cylinder

1S [EER #2 R~ Main body size & 1% %48E#R <} Mountinging dimension

leloal B [DleE|[F[c|n]a]k[L[uti[m] N [plpi]er[rR]s[ulv]w][ex]T
gao| § [ 32| MISPI-5 123 120 | 11| 36|26 | 29 | 54 | 50 | 55 | 13 | M10P1.5 |143|164[1/47| 65 | 45 | 69 |109| 20 | 20 | 13
os0| § |33 | M22R12 132 30| 13| 42| 34|34 |68|50]55|13|Mi0P1.5|169|190|3/8"| 75 | 52 | 85 |135| 25 | 25 | 13
o63| S | 32| M26B1.5 | 32 135 | 15| 42|34 | 36 | 75 | 50 | 55 | 15 |M12P1.75|176|199|3/87| 90 | 63 | 98 [158| 30 | 30 | 28
280| S | 33| Maspi2 | 49 | 35|18 | 46|40 | 41|79 | 50|60 | 17 | M16P1.5 189 (213|1/2”|110| 80 |118|178| 30 | 30 | 33
o100 § |25 | Ma2B12 | 22 |40 | 20| 50|40 | 45|90 | 69 | 74 | 19 | M18P1.5 |[219|249(1/27|135| 98 |145|225| 40 | 40 | 33
o125| § | 23 | MASP1S | 23 | 45 | 24 | 58| 48 | 53 [104| 69 | 74 | 21 | M22P1.5 | 244 |278|3/47|165|122|175|275| 50 | 50 | 33
o150| § | 89 | MOP20 | €0 | 50 | 28 | 58| 48 | 57 [113| 69 | 74 | 23 | M24P1.5 |253|291|3/4” | 195|148 | 206 |332| 63 | 63 | 33
o180| S | 25 | Moomas | 119| 55 | 33 | 68 | 58 | 67 [127| 90 | 90 | 25 | M30P1.5 [304|347| 17 [235|182|243(403| 80 | 80 | 33
g200| § |89 | MIOP2.0 11201 55| 37 | e8| 58 | 71 [137| 90 | 90 | 27 | M32P2.0 [308|355| 17 |262|200|272|452| 90 | 90 | 33
go24| § 199 | M0B20 11401 60 | 41 | 68 | 58 | 75 {146/ 90 | 90 | 29 | M32P2.0 [317|368| 17 [292|225|300(500|100|100| 33
@250 § |128|Mitopa0|138| 65 | 46 | 68 | 58 | 80 |169| 90 | 90 | 30 | M38P2.0 |327(383| 114" | 325|250 [335(535| 100|100 39




Sem=m=f 8
b OEE &L wal @R
Hyd.Cylinder ——)_

B 1+ | | #3258 i Y 08

Attachment A I Adapter 7N e Y Adapter
= —— F O k=
/:\ o £ 4 _ic.-o-
S i | i
L X
Nz = WES ]
Wi — cw J
T IF L
%défe A B c D E oF G H I J K L N
ia.
40 66 50 20 25 MigiePLo 16 16 80: e s 7 30 66 8
M22X P1.5
50 75 55 25 30 o Zud bl 20 20 40 7 10 40 75 10
M26 X P1.5
M26 X P1.5
63 80 60 25 30 G 20 20 445 9 10 445 80 10
80 105 75 35 40 b 30 30 60 9 15 60 105 15
M35X P1.5
100 130 90 40 50 M0 Al 40 40 80 12 20 80 130 15
M45X P1.5
M45X P1.5
125 155 105 50 55 T 50 50 100 15 25 100 155 20
150 170 120 550 | 65 Mo 50 50 100 20 25 100 170 20
MB0 X P2
180 195 135 65 70 L 60 60 120 25 30 120 195 25
M70 X P2
200 280 200 90 80 M0 F2 80 80 150 30 35 150 280 30
M90 X P2 :
224 330 230 105 90 Lskelly 100 100 200 30 50 200 330 30
M100X P2
M100 X P2 ]
250 330 230 105 90 D 100 100 200 30 50 200 330 ,30

45 B ER AR -
1.RIIBISSRIISIEE R CONSEI R ZHERE DB o
2. MERBEESHEE  ABNIHEES  HXRBEEEH. ~1.55(810.0015mm)HIBEHIE o
3.0 ringIRAREEOZSHKSD - BigR -
4 BRER2BSEEHLBEEBRME . RESS -
5 EFABAHEETTD=FE : a)0-70kgf/cm2 {KER o
b)70-140kgf/cm2 P ER o
c)140-210kgf/cm2 F R o
6. B AAERITEZREISRS00 x3000mmM ITRUA - HTBRBINCERNITHEMEEEW - M~ BER4S
EEFHRIBIBERSE AT EZETHR -
7. RERBESR  FFEERHBDAIR  BITHM -
Features:
1.The mentioned specifications which is accorded JIS standard & CNS national standard and
manufactured honestly.
2.The cylinder tube is adopted cold seamless steel tube and inner portion by high
precision processing. The surface roughness is at Ho ~1.5S(i.e 0.0015mm), so far,the O
ring servicing life must prolonged.
.The O ring is adopted originally and from imported long servicing life.
-The each parts for standard products which can be replaced, easy of servicing.
.The operating pressure standard can be divided into 3 models:
a.0-70kgf/cm2 low pressure. b.70-140kgf/cm2 medium pressure. c.140-210kg f/cm2 high
pressure.
6.The max. bore dia. and stroke is within bore 500 x 3000mm for standard model. As for other
products or with special character such as thermo-resisted high speed and operated at
special condition etc,, which products made on customer’s request.

7.The quality is controlled strictly and total products are passed through each testing
before delivery.

XANTIHESEARBIERRIGA 2 OBE TR (GEUOM SN « MEER « BRIEHE)

Our company also available the hyd. cylinder on requested which employed in inferior condition
(Such as:Thermal-Resistant. Acid & Alkalis Resistant and Hi-Speed Actioned etc.,)

ahw



OMA Series

& CA-l Type
Shaft Teeth Screw On (Round Type) (Large model)
A= (B2 - KE)

T {EEES3:210kg/cm’
Operating Pressure
u

L+Stroke
2pT
ﬂ]\\l.’/ \\¥4 /JL\
oc| oAl B| — D— s __%©
—H
il
T
D ElG|F Flel w
KK
%C_Jl'e DA B aC D E F G L K R (w]e] X U W T PT
ia.

2160 110 | M100xP3 | 230 | 140 60 45 60 110 55 70 205 70 100 100 20 3/4”

2180 125 | M110xP4 | 260 | 150 60 50 60 110 55 80 216 80 110 110 20 3/4”

@200 140 | M120xP4 | 270 | 160 70 55 65 110 60 90 242 90 115 120 20 17

@224 160 | M120xP4 | 310 | 160 70 55 65 130 60 90 273 90 115 | 120 20 17

@250 180 | M150xP4 | 330 | 190 80 65 75 150 68 100 298 | 100 120 130 30 | 1147

2280 200 | M150xP4 | 370 | 190 80 65 75 150 68 110 340 | 110 130 140 30 | 114

2300 224 | M180xP4 | 390 | 220 90 70 85 170 74 120 355 | 120 140 150 30 | 11/2

2350 250 | M200xP4 | 460 | 220 100 80 85 200 74 140 | 425 | 140 150 | 170 30 | 11/27

& CA-ll Type
Shaft Key Insert
EHIE TV

T {EBE/1:210kg/cm’
Operating Pressure

L+Stroke U
/ﬂ PT
[

ﬂ]\\l// 1YY/ ox

|| ®0
oC| ®A| oB| #D . || — —_ e — —-

il

e
H E G |F F | K W
K
%Qre A B acC @D E = H | G L K R a0 X U W 2T
ia.

160 110 105 230 85 80 45 25 20 60 110 55 70 205 70 100 100 3/4”
@180 125 120 260 100 80 50 25 20 60 110 55 80 216 80 110 110 3/4”
@200 140 135 270 115 90 55 30 25 65 110 60 90 242 90 115 120 17
224 160 55 310 135 90 55 30 25 65 130 60 90 273 90 115 120 17
@250 180 175 330 150 100 65 35 30 75 150 68 100 298 100 120 130 (11/4”
@280 200 195 370 170 100 65 B85S 30 145 150 68 110 340 110 130 140 [ 11/4”
@300 224 220 390 190 120 70 40 35 85 170 74 120 355 120 140 150 | 11/2”
2350 250 245 460 220 120 80 40 35 85 200 74 140 425 140 150 170 || 1 12°




OMB Series

& FA-l Type
Shaft Teeth Screw On (Round Type)(Large Model)
WMFH (B - AR)

[

<

N

b
Hi

L+Stroke

///@/‘ \S\\\ -
f(? oC| A| B D \é\l’ i’ ®0
—
L
8-¢X T —
o |elcl|r]
GLAS
%Qée oA B @c D E F G L oM oN @0 DX i PT
1a.
@160 | 110 |M100xP3| 230 140 60 60 60 155 320 | 280 | 205 18 20 3/4”
@180 | 125 |M110xP4| 260 | 150 60 65 60 160 360 310 | 216 20 20 3/4”
@200 | 140 |M120xP4| 270 160 70 70 65 165 380 330 | 242 20 20 17
@224 | 160 |M120xP4| 310 | 160 70 70 65 180 420 370 | 273 22 20 i
@250 | 180 |M150xP4| 330 | 190 80 80 75 200 450 390 | 298 24 30 1147
@280 | 200 |M150xP4| 370 | 190 80 90 75 210 500 | 440 | 340 26 30 11/4”
@300 | 224 |M180xP4| 390 | 220 20 100 85 220 515 | 450 | 355 28 30 112"
@350 | 250 |M200xP4| 460 | 220 | 100 | 120 85 265 600 540 | 425 32 30 Az
& FA-ll Type
Shaft Key Insert
BRIET(
oM
oN ) L+Stroke
/ \ — =
/j//\s\\ — -
/\’\ ¢C| oA| ¢B| ¢D x“ Cal ?0
&=/ U ]
\ %/Zf ]
— 8-9X I —
H E G| F|
KLY
%?;e oA | oB @c | @D E F H | G L oM | oN @0 | @X | PT
@160 | 110 | 105 | 230 | 85 80 60 25 20 60 155 | 320 | 280 | 205 18 | 3/4
@180 | 125 | 120 | 260 | 100 80 65 25 20 60 160 | 360 | 310 | 216 20 | 3/4”
@200 | 140 | 135 | 270 | 115 20 70 30 25 65 165 | 380 | 330 | 242 20 17
@224 | 160 | 155 | 310 | 135 90 70 30 25 65 180 | 420 | 370 | 273 22 &
@250 | 180 | 175 | 330 | 150 | 100 80 35 30 75 205 | 450 | 390 | 298 24 | 114
@280 | 200 | 195 | 370 | 170 | 100 90 35 30 75 | 210 | 500 | 440 | 340 26 | 114
@300 | 224 | 220 | 390 | 190 | 120 | 100 40 35 85 220 | 515 | 450 | 355 28 | 112
@350 | 250 | 245 | 460 | 220 | 120 | 120 40 35 85 265 | 600 | 540 | 425 oM 73




OMC Series (Round Type)(Small Type)
&4 OMSDZ! (EZ - /&)

T{EEXA : 140kgf/cm?

Operating Pressure

W
MM PT PT
/ ) —\
BA B._.ﬂz_._ E___ 1 46 ,,,,, __x;__i_l_i_ —
-— [
] \
D E F N L+Stroke N G
A
%QFG DA B @C D E F G L MM N | @O0 | @X U W il =40
1a.

@20 | 12 | M1OxP1.5 | 32 | 20 | 14 | 22 | 22 | 40 | M22xP1.5| 16 | 30 10 | 14 12 | 17 | 1/8

@25 | 14 |[M12xP1.75| 36 | 20 | 16 | 24 | 24 | 44 | M30xP15| 16 | 35 | 12 | 14 | 13 | 20 | 1/8

@30 | 18 | M16xP1.5 | 40 | 25 | 18 | 24 | 24 | 54 | M35xP1.5| 22 | 40 12 | 16 13 | 20 | 1/47

@40 | 20 | M18xP1.5 | 50 | 25 | 20 | 32 | 32 | 54 | M40xP1.5| 22 | 50 16 | 20 | 18 | 20 | 1/4”

& OMFA (CA - CB) &

T{EEEA] : 140kgf/cm?
Operating Pressure

M PE AL + Stroke
<
N PT
— N l
i | Py Y A/ S I B )
oa| Bl-H=HPD & = o 4 u
T
FA oN D E F G L+Stroke H W CA
fI
%‘?re DA B © D E B G H L | M| ON | DO P R [@X | QY | W U T PT
ia.

@50 | 25 |M22xP1.5|M45xP1.5| 30 | 30 | 15 | 35 | 25 | 60 | 100| 80 | 60 |135| 20 | 11 | 20 | 30 | 256 | 17 | 1/4

@63 | 30 |M26xP1.5|M65xP1.5| 35 | 35 | 18 | 37 | 30 | 60 | 125|100 | 73 |145| 30 | 14 | 30 | 45 | 30 | 18 | 3/8

@70| 35 |M30xP1.5|M70xP1.5| 40 | 40 | 18 | 37 | 30 | 66 |130|105| 80 |151| 30 | 14 | 30 | 45 | 30 | 20 | 3/8"

@80 | 40 |[M35xP1.5| M80xP2 | 45 | 45 | 20 | 40 | 30 | 80 [ 155|125| 90 |170| 35 | 18 | 35 | 50 | 35 | 20 | 3/8”

@90 | 45 |[M40xP1.5| M90xP2 | 50 | 50 | 20 | 45 | 35 | 95 |165| 135|100 |195| 40 | 18 | 40 | 55 | 35 | 20 | 1/2”

@100{ 50 | M45xP2 | M100xP2 | 55 | 55 | 25 | 45 | 40 | 101|185 (155|114 [ 211 | 40 | 20 | 40 | 55 | 40 | 20 | 1/2

@110| 55 | M50xP2 | M110xP2 | 60 | 60 | 25 | 45 | 40 | 105 |205|170|125|215| 50 | 20 | 50 | 70 | 40 | 20 | 3/4

@125 60 | M55xP2 | M125xP2 | 60 | 60 | 30 | 55 | 50 | 105|220 | 180|140 (240 | 50 | 20 | 50 | 70 | 63 | 20 | 3/4

@140| 65 | MB0OxP2 | M140xP2| 65 | 65 | 36 | 55 | 50 | 115 | 250 | 205 | 160 | 256 | 60 | 24 | 60 | 95 | 63 | 20 | 3/4”

@150 70 | M65xP2 | M150xP2| 70 | 70 | 36 | 55 | 50 | 115|260 | 220|168 [ 256 | 60 | 24 | 60 | 95 | 80 | 20 | 3/4




OMD Series (Round Type)(Small Type)(EIE)(/NEY)

& CA-l Type (ZZ# ) (Production Machinery)

PE AL +Stroke
G M
| U
. ! |
’ 4 I\ |
_____ I N W
on| B X{} = |
- |
N |
D E F L+Stroke CA
FKEY
qure DA B C D E F G H L M ON | @0 P R X W U T 2T
ia.
@50 | 25 | M22xP1.5| 45 30 30 15 53 30 80 12 20 60 | 125 | 20 20 30 25 17 | 1147
@63 | 30 | M26xP1.5 | 57 35 35 19 58 35 85 19 28 73 | 135 | 30 30 45 30 18 | 3/8”
@70 | 35 | M30xP1.5| 60 40 35 15 65 35 92 15 23 80 | 142 | 30 30 45 30 20 | 3/8”
@80 | 40 | M35xP1.5| 65 45 40 15 65 85 92 1% 23 90 | 142 | 35 85 50 35 20 | 3/8”
@90 | 45 | M40xP1.5| 70 50 40 15 68 45 100 | 20 28 | 100 | 160 | 40 40 55 35 20 | 1/2”
@100| 50 M45xP2 78 55 45 1% 68 45 100 | 20 28 114 | 160 | 40 40 55) 40 20 | 1/27
J110| 55 M50xP2 80 60 45 15 68 45 100 | 20 28 | 125 | 160 | 50 50 70 40 20 | 1/2”
@125| 60 M55xP2 94 60 45 18 74 55 128 | 23 35 | 140 | 201 50 50 70 63 20 | 3/4”
J140| 65 M60xP2 | 104 | 65 50 18 75 55 135 | 25 35 | 160 | 208 | 60 60 95 63 20 | 3/4”
@150| 70 M65xP2 | 108 | 70 50 18 76 55 187 | 25 35 | 168 | 210 | 60 60 95 80 20 | 3/4”
& CA-ll Type
P+Stroke
G
t U
| |
' I /T\
— ] o B | I A |
?A| B ] re) N | | AN A | | ________ S
|
B |
D E F L+Stroke H
GRS
Bore | DA B C D E E G H L M ON | @O P @S | X W U T PT
dia.
@50 | 25 | M22xP1.5 | 45 30 30 15 53 30 80 12 20 60 | 125 | 38 25 19 70 17 | 1147
@63 | 30 | M26xP1.5 | 57 85 85) 1% 58 35 85 1® 23 73 | 135 | 45 30 (225| 85 18 | 3/8”
g70 | 35 | M30xP1.5 | 60 40 35 15 65 35 92 15 23 80 | 142 | 45 30 (225 95 20 | 3/8”
@80 | 40 |M35xP1.5 | 65 45 40 19 65 85 92 15 28 90 | 142 | 50 85 25 | 10 | 20 | S
@90 | 45 | M40xP15 | 70 50 40 15 68 45 100 | 20 28 | 100 | 160 | 60 40 30 | 115 | 20 | 1/2”
@100( 50 M45xP2 75 55 45 19 68 45 100 | 20 28 | 114 | 160 | 60 40 30 | 130 | 20 | 1/2”
@110| 55 M50xP2 80 60 45 15 68 45 100 | 20 28 | 125 (160 | 75 50 (375|140 | 20 | 1/2”
J125| 60 M55xP2 94 60 45 18 74 09 128 | 25 35 | 140 | 201 | 75 50 (375|160 | 20 | 3/4”
J140| 65 M60xP2 104 | 65 50 18 75 55 135 | 25 35 | 160 | 208 | 85 60 (425|180 | 20 | 3/4”
g150| 70 M65xP2 108 | 70 50 18 76 09 137 | 25 35 | 168 | 210 | 85 60 (425|190 | 20 | 3/4”




OM-E Series % mERE(FERE)

Synchronous Hyd.Cylinder (parking Equipment)

PT

PA

/

?X

=
S

D E G L+Stroke H W
#Rl | BR |EER Rod#& .=
Type | Tube dia. | Rod oA B DIE|G|H| L RIS 1T U JOX| PT | goqaniis| T | W
60
1 875 45 |M35xP2.0| 60 | 30 | 60 | 30 | 130 | 30 | 60 | 70 | 30 | 26 | 3/8” 226 20 | 45
@63
2 80 50 |M40xP2.0| 70 | 30 | 60 | 30 | 130 | 30 | 60 | 70 | 30 | 26 | 3/8” 226 20 | 45
80
3 2100 60 |M50xP2.0| 80 | 40| 70 |40 | 150 | 35 | 70 | 80 | 35 | 36 | 1/2” @30 20 | 55
@100
4 3125 75 |M65xP2.0| 90 | 40 | 70 | 40 | 150 | 40 | 80 | 95 | 40 | 41 | 1/2” 240 20 | 55
XK ga7N ol 12 12 A% B B AR = (FBEY)
This unit also can be made flange mounting type(FB Type)
& RAM-A Type
/1
— .
L Wi | | |
ocl on _@ I I A ___:++4:_ |
// 7 —
ﬂ
E G L+Stroke H W
AR DA B aC E G H R R S il U X PT | W
1=
1 80 M16xP2.0 |&120| 100 | 30 35 70 30 60 70 30 26 1/2” | 45
2 100 | M20xP2.5 |@J140| 100 | 30 45 90 85 70 80 85 30 /250
3 125 | M20xP2.5 |@163| 100 | 30 45 | 120 40 80 95 40 40 1/2” | 60

XN GATN O AR 12 Ak BE il = (FBEY)
This unit also can be made flange mounting type(FB Type)

&4 RAM-B Type

X1 ARESHET 2 EERS0140 - @150 - @160 - @180 + @200 - @224 - @250 -
@500 - LARAKMER - BT
X2 BIZU5FA - FB - CAR -

=1
AX A

S -

@300 - @350 + D400 - @450 -

X1.This seies rod of hyp.cylinder are @140,8150,8160,8180,8200,0224,0250,300,8350,8400,8450,3500
and can be designed & made which accompanied with assorted machinery.

X2.The type which being with FA,FB,CA etc,,




OMT Series (Round Type)(Small Type)

& SD TYPE (B2 - /©EY)

2PTF¢O /MM
/\ _____
_ _ ¢A B _£_ ________ _.@.___._.__
X~ o= ey |
T
K D L+Stroke N G ¢C
2PT e
— /MM /(DA /B
oA| Bl — : _@__ ......... “@___ ....... _@_ _:_::_:
T
E L+Stroke N G T
FARI &R TYPE FB#&I#1R TYPE FA - FB1R
FA front panel type FB rear panel type FA - FB board
|
or—| D
~fE | < =1 . [~ wl v
ﬁ: ‘
T _ 1 a-ox—'| | U N
g _ v _ —
KLY
Bore | DA B gC/ D | E|F|G|K|L MM NGO |PTIGR| I |U |V |W|@BX|Y|T
dia.
@20| 12 | M10xP1.5| 30 |20 | 14 | 22 | 22 | 32 | 40 |M22xP1.5 |16 |30 | 1/8"|@22| 9 |40 |60 | 30 | 9 |45 | 17
@25 14 [M12xP1.75| 35 |20 | 16 | 24 | 24 | 36 | 44 | M26xP1.5 |16 |@35 |1/8"|@26| 9 [ 50 [ 70 [ 30 | 9 |45 | 18
@30| 18 [ M16xP1.5| 40 |25 |18 | 24 | 24 | 41 | 54 | M35xP1.5 |22|@40 | 1/4"|@35| 9 |60 |80 | 35| 9 |55 |20
@40| 20 | M18xP1.5| 50 |25 | 20 | 32 | 32 | 41 | 54 |M40xP1.5 |22 | @50 | 1/4”| D40 |11 |70 | 95 | 45 | 12 | 65 | 20




SHEUHEEL Mini-stroke Hyd.Cylinder

OJT Series

OJT SeriesNEMEEEZH 2 TE

Internal structure and part name

25 THEE
Symbol Part name

2=
Quantity

tI1%2 Cylinder block

1

yEZE1E Piston rod

BIZ Front cover

TEE
Piston

EEREHE
Piston rod dust jacket

EERHE
Piston rod sleeve

AIEO0RIR
Front cover O-ring

EE A
Piston oil seal

EENORIR
O-ring in the piston

CHONCOHOMOIONOMOMNG,

i AR E Rl g ik

Cylinder type and installation type

LTS i = E NI
Cylinder type Standard symbol Standard graphics Inner(:::]r;eter

RN ' ' @20

%’E‘@J}E il SD-A _ 325

Double acting cylinder LA-A 4' @32

@40

I | @50

L Eipiikal SD-B 1 @63

Double shaft cylinder LA-B I 280

@100




OJT Series
Thin hydraulic cylinder

3 7Y

rra=

# SDE! B8l Single Shaft

B B L

A
I [
__|.!| . L — 1 H |” ]
[ A 3]
- MM R I I N |
BT
| . o
el —I—':_‘_—_:_'_—__—‘:_'—_:'—I'—E
{— Clb—1r R S 4-FBETL
WF LL+7778 D M
7)+1718 TV
E
| | —-1-] -
4 LAZ! E#f Single Shaft
B A EA
20 SS+17%2 SW FG . TS KK
| | |
AT T T T T T )
W_+_ 1 1l i_f
N N
j | | | s
n T
INCT A
P! \I'/ P!
+FBA PL X ‘TW| TL+17% D
4-FGxBT - -
WF LL+7782 T
Z)+17%2
= A BT FB FG
. c|D | E |EA|EB|EE KK |LH|LL|MM| N |PL|SS|SW| T |TL|TS|TV |TW|TX|WF| Y |ZzJ
?c:re SD|LA SD|LA[SD|LA
@20 [10|54| - | 7 10|44 - | - |18’|55| - |9.5] - |M8x1.25| - 43|12 0 [12]| - | - |- |- |- |30] - |- |8 |205]51
@25 (12|54| - | 7 |12|50| - | - 18|55 - |9.5] - |Miox15| - |45|14 |0 12| - | -|-|-|-|36] - |- |8][205]53
@32 |15(6.5(86| 9 |17 |62|70|56 [1/4’| 7 | 9 |11 |14 [M12x1.75| 25 | 54 |20 |10 |12 |24 | 10|63 |14 |56 |47 | 12|28 | 10|27 | 64
@40 |20(8.6(10.8| 9 |21|70|80 |64 [1/47] 9 |11 |14 [17.5| M16x2.0 [29 |55 |25 |10 [12 |23 | 12|70 |15 |62 |52 | 12|28 | 10|27 |65
@50 |24(10813 | 9 |24 |80 |94 |74 |1/4| 11 |14 |17.5] 20 | M20x2.5 |34 |60 |30 [ 10 |13 |27 | 13|80 |17 | 74 |58 | 14 |29 | 11|28 | 71
@63 |33|13 (152 11|30 |94 [114| 89 [1/4”| 14 [ 16 | 20 | 23 | M27x3.0 |42 |67 |35 |10 |13 |32 | 15 |100|20 | 90 |69 | 16|31 | 13|30 | 80
@80 |33(152| - |14(35|114| - | - |3/8"|16| - |23| - |M30x35| - |78 |40 |15(18| - | - |- |- |- |86| - |- |17|35]|95
@100 |40|175| - | 14|40 |134| - | - |3/8"| 18| - | 26| - |M36x40| - |82|45|15[18| - | - | - | - | - l102| - | - [17|39 |99




& SDE! &8 Twin Shaft

MM/

@ns

KK

S I e B
[ I — FB; J [ it ——
v Y WEF LL+1T%2 4-FBiB7FL
4-FGxBT
JE
I -
& LAZ! 8 Twin Shaft
A EA
_ —
20 SS+1718 20 FG TS KK
I ' '
e T — | A
@ @ e bt L Ao
N NN 1 1
Y N : Y Pl Ii: Ii: £B
| . N N [ | . . R . [ [
@ | Y & v i I T T
] ] i !
] L) a s
@ & ol b T e
4:252} ™ | TW TL+{T12 ||3
- |WE LL+312 WF+1752 T
) BT FB FG
- A EB|EE LH| LL [MM| N
I?Jrle e e IENES olialsolial KK SS| T |TL|TS|TV|TW|TX |WF| Y
@20 [10(54| - |7 |10]44]| - | - |18’|55] - |95] - |Mex125| - |54 12| 0| -|-|-|-|30]-]-]8|205
@25 |12|54| - |7 |12|50| - | - |18’|55] - |95 - [Miox15| - |56(14| 0| -|-|-|-|36|-]|-]|8|205
@32 |15(65(86| 9 |17 (62|70 |56 |1/4’| 7 | 9 | 11|14 [M12x1.75| 25 |69 |20 | 10|32 |63 |29 |56 | 47 |12 | 28 | 10 | 27
@40 |20 (8.6[108| 9 |21 |70|80 |64 |1/4”| 9 |11 |14 |17.5|M16x2.0 | 29|71 |25 | 10|32 |70 |31 |62 |52 |12 |28 | 10|27
@50 |24 [10.8(13 | 9 |24 |80 |94 |74 |1/47| 11 | 14 |17.5) 20 | M20x2.5 | 34 | 77 |30 | 10 | 35|80 |34 | 74 | 58 | 14 |29 | 11 | 28
@63 |33 |13 [15.2[ 11|30 |94 |114| 89 |1/4”| 14 | 16 | 20| 23 | M27x3.0 | 42 | 83 | 35 | 10 | 42 [100| 36 |90 | 69 | 16 | 31 | 13 | 30
@80 |33 [152| - [14|35|114| - | - |38°| 16| - [23] - [M30x35| - |95|40|15| - | - |- |- |86| - |- 17|35
@100 |40 175 - |14 |40 |134| - | - |3/8’| 18| - | 26| - |M36x4.0| - [106|45[15| - | - | - | - [102] - | - [17]| 39




lﬁl ‘. it i " i
PO

T

B
T
TR b
L T
5 it |

FEIERMABRD T
YU KU INDUSTRY CO., LTD.
B P HmEIEERS IE K567 R
No. 7, Ln. 56, Jifeng Rd. , Wufeng Dist.,
Taichung City 41303, Taiwan(R. 0. C.)

TEL:04-23334358
FAX:04-23334355
E-mail:j4730@ms41.hinet.net

i






